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ẋ(t) = Ax(t) + bu(t), x(0) = x0,
�����

2!�
x(t), x0, b ∈ Rn ,

u(t) ∈ R
,
A ∈ Rn×n ,

ẋ = dx/dt
� 7$)��'+ ����� $�"2!�

���� -�9� .$��0�� ' )���$"����� ' 1���*"!�� ' 1�"��))"' �) +1��-.��$�' �
$.$ .$��0�� ' )���$"����� ' 1�"��))"' +1��-.��$� �

�+!�' )($���/  (�" !")�+1�� '$ �-.�9�)� .$	 / "2���$(����� +1��&
-.�9� $� -"�!�0)�-$�

|u(t)| ≤ 1, t ≥ 0.
���
�

@�$ ��"' #"�#����"� ���(��$� '�#)$'�./�"2" !"1+)�$'"2" +1��-.��$� �1"
�3)".9��"0 -�.$($��� �� �-.���)� 1�$��$1$�./�� ' , ���(��$� �!$�$�� -
���
� -���" !.� 1�")�"��  � "2���$(��$� ) .93� ' !�+2$' ���(��$�' '"���
3��/ )-�!��" # "2���$(��$9 ���
� ) 1"'"� /9 '�)	 ��3$�"-��$� +1��-.�&
�$� �

��))'"��$' 1�"��)) +1��-.��$� �� ��#"�"�"' -��'���"' "����#� % $#&
)$�"-���"0 !.$��

T = [0, t∗].
� ")�+1�"� +1��-.��$�

u(t), t ∈ T

�



���� � +1��-.��$�  +!"-.��-"��9� �� �� "����#�
T
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)($���/ !"1+)�$'� '  �).$ #""�!$���� -�*"!�"2" )$2��.�

y = Hx ∈ Rm

)$)��'� ����� +!"-.��-"��9� - '"'��� -��'��$
t = t∗

).�!+9� �'+ "2���$&
(��$9

y(t∗) = Hx(t∗) = g.
���� �

�!�)/
x(t∗)

� ���'$��./�"� �#"��(�"� � )")�"��$� )$)��'� �����  )""�-��&
)�-+9� �� +1��-.��$9

u(t)
 
t ∈ T

,
H ∈ Rm×n  

m ≤ n
,
g ∈ Rm �

��(�)�-" 1���*"!�"2" 1�"��))� �1�"��))� +1��-.��$� � '"� �" "���$&
-��/ ) 1"'"� /9 ���.$(��* %+�#�$"��."- "� +1��-.��$�

u(t)
 
t ∈ T

� ��$
%+�#�$"��.� ����-�9� #�$���$�'$ #�(�)�-� �

�).$ �- (�)��")�$ � ��"3*"!$'" '$�$'$�$�"-��/ ����2$9  �����($-�&
�'+9 �� 1���-"! )$)��'� $� ��(�./�"2" )")�"��$�

x(0) = x0
- "!�" $�

)")�"��$0 ���'$��./�"2" '�"��)�-�
{x: Hx = g}

 �" ��"3*"!$'" '$�$'$&
�$�"-��/ ).�!+9�$0 #�$���$0 #�(�)�-�

J1(u) =
t∗
∫

0

u2(t)/2 dt.
���G �

�).$ �+� �" '$�$'$�$�"-��/ ��)*"! �"1.$-�  �" 3+!�' '$�$'$�$�"-��/
%+�#�$"��.

J2(u) =
t∗
∫

0

|u(t)| dt.
�����

� �.$��./
2

- %+�#�$"��.� ���G � -��� �"./#" !.� +!"3)�-� ! �./��0	$*
-� #.�!"#  �� '$�$'�./�"� ���(��$� ���G � "� �� -.$���� ��#$' "3��&
�"'  $� �����& ����� 1".+(��' ).�!+9� $� .$��0�"&#-�!���$(�+9 $ .$��0�"&
��2.�!#+9 ��!�($ "1�$'�./�"2" +1��-.��$� �

�� ��!�(+ '$�$'$���$$ )��!��#-�!���$(�"0 $����)$-�")�$ +1��-.�&
�$�

J1(u) =
t∗
∫

0
u2(t)/2 dt→ min

u(·)
, ẋ = Ax+ bu, x(0) = x0,

Hx(t∗) = g, |u(t)| ≤ 1, t ∈ T = [0, t∗];
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J2(u) =
t∗
∫

0
|u(t)| dt→ min

u(·)
, ẋ = Ax+ bu, x(0) = x0,

Hx(t∗) = g, |u(t)| ≤ 1, t ∈ T,

�����
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h > 0
�

u(t) ≡ ui = const, t ∈ [ih, (i+ 1)h], i = 0, N − 1 (t∗ = Nh).
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N−1
∑

i=0

u2
i/2 → min, Ãu = b̃, |ui| ≤ 1, i = 0, N − 1,
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$ #+)"(�"&.$��0�"0 �

N−1
∑

i=0

|ui| → min, Ãu = b̃, |ui| ≤ 1, i = 0, N − 1,
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)""�-��)�-���"  - #"�"��* 1���'����
Ã ∈ Rm×N $
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�
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�� % $#)$�"-���"' 1�"'�� +�#�

T = [0, t∗]
- #.�))� #+)"(�"&��1���� -&

��* � %+�#�$0 �+1��-.��$0�
u(t)

 
t ∈ T

,
u(t) = [u(t− 0) + u(t+ 0)] /2

 
��))'"��$' ��!�(+ "1�$'�./�"2" +1��-.��$�

J(u) =
t∗
∫

0

u2(t)/2 dt→ min
u(·)

,
�
 ���

ẋ = Ax+ bu, x(0) = x0,
�
 �
�

Hx(t∗) = g,
�
 �� �

|u(t)| ≤ 1, t ∈ T.
�
 �G �

�!�)/ �
x = x(t)

�
n

&-�#�"� )")�"��$� "1�$'$�$�+�'"0 !$��'$(�)#"0 )$&
)��'� - '"'��� -��'��$

t
,
u = u(t)

� ���(��$� )#�.���"2" +1��-.�9� �2"
-"�!�0)�-$� - ��"� �� '"'��� ,

A
� 1")�"�����

n × n
&'���$�� 1���'��&

�"-  "1��!�.�9� �� !$��'$#+ )$)��'� ,
b
� 1")�"���� 0

n
&-�#�"� 1���'��&

�"- -*"!�"2" +)��"0)�-� �(���� #"�"�"� +1��-.��$� -"�!�0)�-+�� �� !$&
��'$(�)#+9 )$)��'+ �� �� )")�"��$��,

ẋ = dx/dt
� )#"�")�/ $�'����$�

)")�"��$� ,
x0 ∈ Rn � ��(�./�"� )")�"��$� )$)��'� ,

x(t∗)
� ���'$��./&
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�  )""�-��)�-+9� �� +1��-.��$9
u(t)

 
t ∈ T

,
H

� 1")�"�����
m× n
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rankH = m ≤ n
,
g
� 1")�"����0

m
&-�#�"� ��! ����* ���(��$0 -�*"!�"2"

)$2��.�
y(t) = Hx(t), t ∈ T,

�
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H GH ������
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)")�"��$�
x(t)

)$)��'� �
 �
� !.� .93"2" '"'����
t ∈ T

(���� ��(�./�"�
)")�"��$�

x0
$ +1��-.��$�

u(τ)
 
τ ∈ [0, t]

�

x(t) = F(t, 0)x0 +
t
∫

0

F(t, τ)bu(τ) dτ.
�
 �� �

�!�)/ '���$(��� %+�#�$�
F(t, τ)

 
t, τ ∈ T

 
τ ≤ t

� %+�!�'����./���
'���$�� ��	 ��$0 "!�"�"!�"0 (�)�$ �

ẋ = Ax
�
 ���

!$��'$(�)#"0 )$)��'� �
 �
� � >�� �-.���)� ��	 ��$�' )$)��'�

∂F(t, τ)

∂τ
= −F(t, τ)A, F(t, t) = E.

�
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 �

� .� ��))'���$-��'�* - ! ���"' )1��#+�)� !$��'$(�)#$* )$)��' (�)�"
+!"3��� 1"./�"-��/)� !�+2"0 %+�!�'����./�"0 '���$��0 ��	 ��$0 )$)��'�
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 ��� �

F (t)
 
t ∈ T

 #"�"��� �-.���)� ��	 ��$�' )$)��'�

Ḟ = AF, F (0) = E.
�
 �� �

@�$ ��"' !.� ��))'���$-��'�* )$)��' )1��-�!.$-� ).�!+9� $� ��-��)�-�  
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F(t, τ) = F (t)F−1(τ) = F (t− τ).
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x(t) = F (t)x0 +
t
∫

0

F (t− τ)bu(τ) dτ.
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T
�� ��� ��
 "� ��& ����� �$

�� � � ���� ���#��� #� ���
rank

(

Hb,HAb, . . . , HAn−1b
)

= m
�

������
 H G
 �"1"���0 #�$���$0 "��")$��./�"0 +1��-.��'")�$� � 	
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 � ���� ���� � � "� ��& �� ��� �'��

T
�� ��� ��
 "� ��& � ���� ��� �

� ���� �� �#�� �
	 ��� ������
 � ���%�  ��
 ��� ��
T�� = {t1, t2, . . . , tm}�'�	�� �������  � ��� ��

tj ∈ T
�
j = 1, m

� �	
 ��� �� �%� �� ��� �
 ��$
��

m × m
$ ��� ���

P = (h(t), t ∈ T��) �� �� �	 ��� �
h(t) = HF(t∗, t)b

�

t ∈ T�� �

�
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�+)"(�"&��1���� -�+9 %+�#�$9
u(t)

 
t ∈ T

 $ )""�-��)�-+9�+9 �0
����#�"�$9

x(t)
 
t ∈ T

 )$)��'� �
 �
� ���"-�' !"1+)�$'� ' +1��-.��$�'
$ !"1+)�$'"0 ����#�"�$�0  �).$ ��

u(t)
 
t ∈ T

 -� 1".��9�)� 2�"'���$(�&
)#$� "2���$(��$� �
 �G � �

u(t)
 
t ∈ T

 �-.���)� !")�+1�� ' +1��-.��$�' � $
- #"��(��0 '"'��� ��

x(t)
 
t ∈ T

 -�1".����)� ���'$��./�"� "2���$(��$�
�
 ��� �

� "1+)�$'"� +1��-.��$�
u0(t)

 
t ∈ T

 $ ����#�"�$9
x0(t)

 
t ∈ T

 ���"-�'
"1�$'�./�� '$  �).$ �� �$* #�$���$0 #�(�)�-� �
 ��� !")�$2��� '$�$'�./&
�"2" ���(��$�

J(u0) =
t∗
∫

0

[

u0(t)
]2
/2 dt = min

u(·)
J(u) = min

u(·)

t∗
∫

0

u2(t)/2 dt.
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�")$��./�"0 +1��-.��'")�$ �-.���)� )+� �)�-"-��$� *"�� 3� "!�"0 "1"��
"2���$(��$0 ����'$��./�"2" "2���$(��$� �
 ���� �

7"-"#+1�")�/
T�� = {tj, j = 1, m}

$�
m

$�".$�"-����* '"'���"-
tj ∈ T

 
j = 1, m

 ����-���)� "1"�"0 "2��&
�$(��$0  �).$ �� -� �"� !���

m×m
&'���$��

P = (h(tj), tj ∈ T��) �
>)�"-�� ' "3��#�"' 1��"3���"-��$� $�.�2��'"2" ! �.�� '��"!� �-.���&

)� 1��� $� +1��-.��$� $ "1"�� � @��+
{u, T��} $� !"1+)�$'"2" +1��-.��$�

u = (u(t), t ∈ T )
$ "1"�� "2���$(��$0

T�� ���"-�' "1"��� ' +1��-.��$�' �
�+!�' ���� -��/ �2" ��-� �"� !���� '  �).$

|u(t)| < 1, t ∈ T��. �
 ��	�

��
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{u, T��} � ��(�./�"� "1"��"� +1��-.��$� � ����!+ ) �$' ��)&
)'"��$' ��#"�"�"� !"1+)�$'"� +1��-.��$�

u(t) = u(t) + ∆u(t)
 
t ∈ T

 
$ )""�-��)�-+9�+9 �'+ ����#�"�$9

x(t) = x(t) + ∆x(t)
 
t ∈ T

� ��0!�'
1�$��� ��$�

∆J(u) = J(u) − J(u) =

=
t∗
∫

0

[u(t) + ∆u(t)]2 /2 dt−
t∗
∫

0

u2(t)/2 dt =

=
t∗
∫

0

[

u2(t) + 2u(t)∆u(t) + ∆u2(t)
]

/2 dt−
t∗
∫

0

u2(t)/2 dt =

=
t∗
∫

0

u(t)∆u(t) dt+ η,
�� ���

2!�

η =
t∗
∫

0

∆u2(t)/2 dt.

@")#"./#+ !"1+)�$'�� -��$��$� ����#�"�$$
∆x(t)

 
t ∈ T

 +!"-.��-"&
���� +��-���$9

∆ẋ = A∆x+ b∆u, ∆x(0) = 0, H∆x(t∗) = 0,
�� �
�

�"  $)1"./�+� % "�'+.+ �"	$ �
 ���  1".+($'

H∆x(t∗) =
t∗
∫

0

HF(t∗, t)b∆u(t) dt = 0.
�� �� �

�� �� ���? �� ��� $'��' �

∆J(u) = −
t∗
∫

0

[

y
′

HF(t∗, t)b− u(t)
]

∆u(t) dt+ η,
�� �G �

2!�
y
� 1�"$�-"./��0

m
&-�#�"� �

��
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ψ
′

(t) = y
′

HF(t∗, t).
�� ���

�� �� ���  �
 �
� $'��'

ψ̇
′

(t) = y
′

H
∂F(t∗, t)

∂t
= −y

′

HF(t∗, t)A, ψ
′

(t∗) = y
′

H,

�� � � %+�#�$�
ψ(t)

 
t ∈ T

 �-.���)� ��	 ��$�' +��-���$�

ψ̇ = −A
′

ψ, ψ(t∗) = H
′

y.
�� �� �

7$)��'+ �� ��� ���"-�' )"1������"0 )$)��'"0  � �� ��	 ��$�
ψ(t)

 
t ∈ T� #"����#�"�$�0 �

6+�#�$9
∆(t)

 
t ∈ T

�

∆(t) = ψ
′

(t)b− u(t), t ∈ T,
�� ���

���"-�' #"+1��-.��$�' �
��#�"�

y
-�3���' ��#  (�"3�

∆(tj) = 0
 
tj ∈ T�� �

∆(tj) = ψ
′

(tj)b− u(tj) = y
′

HF(t∗, tj)b− u(tj) =

= y
′

h(tj) − u(tj) = 0, tj ∈ T��, j = 1, m.

7.�!"-���./�"  

y
′

(h(tj), tj ∈ T�� ) − ( u(tj), tj ∈ T�� )
′

= y
′

P − (u(tj), tj ∈ T�� )
′

= 0.

��#$' "3���"'  
y

′

= ( u(tj), tj ∈ T�� )
′

Q,
�� �
 �

2!�
Q = P−1 � ��#�"�

y
�� �
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∆J(u) = −
t∗
∫

0

∆(t)∆u(t) dt+ η.
�� �� �
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∆(·)
!.� �"(�#

t ∈ T
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{u, T��} � "1"��"� +1��-.��$� � @"!)($���' 1" ��'+ -�#�"� 1"&
����$�."-

y
�� �
�  #"����#�"�$9

ψ(t)
 
t ∈ T

�� �� � $ #"+1��-.��$�
∆(t)

 
t ∈ T

�� ��� �
������
 
 G� �#�$���$0 "1�$'�./�")�$� � 	
 ���� �	������ ���
�$

�� �%� 
����	 ���

u(t)

�
t ∈ T

� � '���#� "� ��& $ "� ��& ���� �� �#�� �
	 ��� ��$
����
 ����� �����

T�� � #� � �	
 ���� ��%� 
����	 ���

{u, T��} ����	�
$

���
 ������� ���


∆(t) ≤ 0
�� �

u(t) = −1; ∆(t) ≥ 0
�� �

u(t) = 1;

∆(t) = 0
�� �

|u(t)| < 1, t ∈ T.

�G ���

� �	
#�� ����� �
 �������� ���� ��%� 
����	 ���
 ������� ���
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 �	
���
 ����� ��� � � �	
 ���� �	������ ���
��� �%� 
����	 ���


u(t)
�
t ∈ T

�
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∆u(t)

 
t ∈ T

 
$'��' �

∆u(t) ≥ 0
1�$

∆(t) < 0; ∆u(t) ≤ 0
1�$

∆(t) > 0, t ∈ T.
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t∗
∫

0

∆(t)∆u(t) dt ≤ 0

!.� .93"0 !"1+)�$'"0 -��$��$$ +1��-.��$� �
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η ≥ 0
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∆J(u) ≥ 0
!.�
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u(t)

 
t ∈ T

� "1�$'�./�"� +1��-.��$�  �
{u, T��} � ��-��"&

� !���"� "1"��"� +1��-.��$� ��! �($ �
 ���& �
 �G � � @��!1"."� $'  (�"  -"&
1��#$ +�-��� !��$9  )""��"	 ��$� �G ��� �� -� 1".��9�)�  �� � � )+� �)�-+��
��#�� �"(#�

t0 ∈ T
 - #"�"�"0 ��$ )""��"	 ��$� ���+	 �9�)� �"(�-$!�"  

t0 ∈ T \ T��� �
@��!1"."� $' )��(�.�  (�" �"(#�

t0
�� �-.���)� �"(#"0 �����-� +1��-&

.��$�
u(t)

 
t ∈ T

��  ���($� $ #"+1��-.��$�
∆(t)

 
t ∈ T

� �
� .� "1��!�.���")�$ 1��!1"."� $'  (�" !.� '"'����

t0
)""��"	 ��$�

�G ��� ���+	 �9�)� ).�!+9�$' "3���"' �

∆(t0) > 0, u(t0) < 1.

�� ��1���� -�")�$ +1��-.��$� $ #"+1��-.��$� - �"(#�
t0

).�!+�� )+&
� �)�-"-��$� ��#"2" ($).�

ξ1 > 0
 (�" !.� -)�*

ξ
 
0 < ξ < ξ1

 �� "����#�
[t0 − ξ, t0 + ξ]

��� �"(�# ����� -�
u(t)

 
t ∈ T

 $
∆(t)

 
t ∈ T

 � ��#� � -�1".&
��9�)� )""��"	 ��$� �

∆(t) > 0, u(t) < 1, t ∈ [t0 − ξ, t0 + ξ] .
�G �
�

� )$.+ ��-��"� !���")�$ "1"��"2" +1��-.��$�
{u, T��} ��0!+�)� ��#$�

($).�
ξ2 > 0

 
ζ0 > 0

 
uξ

j

 
j = 1, m

 (�" !.� -)�*
ξ

 
0 < ξ < ξ2

 -�1".��9�)�
)""��"	 ��$� �

m
∑

j=1

uξ
j

tj+ξ
∫

tj−ξ

h(t) dt =
m
∑

j=1

tj+ξ
∫

tj−ξ

h(t)u(t) dt;

∣

∣

∣

∣

uξ
j

∣

∣

∣

∣

≤ 1 − ζ0, tj ∈ T��, j = 1, m.
�G �� �

��
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ξ0 > 0

-�3���" ��#  (�" !.� -)�*
ξ

 
0 < ξ < ξ0

 -� 1".��9�&
)� $ )""��"	 ��$� �G �
�  $ )""��"	 ��$� �G ���  1�$(�' m

⋂

j=0
[tj − ξ, tj + ξ] = �

�
� .� #�� !"2"

ξ
 
0 < ξ < ξ0

 1")��"$' -��$��$9 +1��-.��$�
∆uξ(t)

 
t ∈ T

 ).�!+9�$' "3���"' � @"."� $'

∆uξ(t) ≡ v0 > 0, t ∈ [t0 − ξ, t0 + ξ] ;

∆uξ(t) ≡ 0, t ∈ T \
m
⋃

j=0

[tj − ξ, tj + ξ] .

���$��$9 +1��-.��$� �� "����#�*
[tj − ξ, tj + ξ]

 
tj ∈ T��  

j = 1, m
 

1")��"$' - -$!� 1")�"����* %+�#�$0

∆uξ(t) ≡ vj, t ∈ [tj − ξ, tj + ξ] , j = 1, m.

�� ��-��)�-�
t∗
∫

0

h(t)∆u(t) dt = 0,
�G �G �

)1��-�!.$-"2" !.� #�� !"0 !"1+)�$'"0 -��$��$$ +1��-.��$�  ).�!+��

m
∑

j=0

vj

tj+ξ
∫

tj−ξ

h(t) dt = 0.
�G ���

���."� $- .�-+9 (�)�/ ��-��)�-� �G ��� 1" )��1���'
ξ

- �"(#�*
tj

 
j = 0, m

�

m
∑

j=0

vj

tj+ξ
∫

tj−ξ

h(t) dt =
m
∑

j=0

vj







tj+ξ
∫

tj

h(t) dt−

tj−ξ
∫

tj

h(t) dt





 =

=
m
∑

j=0

vj







tj+ξ
∫

tj



h(tj) + ḣ(tj) (t− tj) +
ḧ(tj)

2
(t− tj)

2 + o
(

(t− tj)
2
)



 dt−

−

tj−ξ
∫

tj



h(tj) + ḣ(tj) (t− tj) +
ḧ(tj)

2
(t− tj)

2 + o
(

(t− tj)
2
)



 dt





 =

=
m
∑

j=0

vj



h(tj)ξ + ḣ(tj)
ξ2

2
+ ḧ(tj)

ξ3

6
+ o(ξ3)−

−



−h(tj)ξ + ḣ(tj)
ξ2

2
− ḧ(tj)

ξ3

6
+ o(ξ3)







 =

=
m
∑

j=0

vj



2ξh(tj) +
ξ3

3
ḧ(tj) + o(ξ3)



 =
m
∑

j=0

vj

(

2ξh(tj) + o(ξ2)
)

= 0,

��
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v = (vj, j = 1, m)

 1".+($'

m
∑

j=1

vj

(

2ξh(tj) + o(ξ2)
)

+ 2ξh(t0)v0 =
(

2ξP + o(ξ2)
)

v + 2ξh(t0)v0 = 0,

�� � �
(P + o(ξ)) v = −h(t0)v0.

�G �� �
@")#"./#+

detP 6= 0
 �" !.� !")���"(�" '�.�*

ξ
 
0 < ξ < ξ0

 3+!�'
$'��/

det P̃ 6= 0
 2!�

P̃ = P + o(ξ)
�

�"2! � $� �G ��� 1".+(��'
v = −P̃−1h(t0)v0

 �� � �

vj = kjv0, j = 1, m,
�G ���

2!�
kj = −e

′

jP̃
−1h(t0)

 
j = 1, m

�
� )$.+ .$��0�"0 ��-$)$'")�$ �G ��� $ ��-� �"� !���")�$ �G ��� "1"��"&

2" +1��-.��$� !.� !")���"(�" '�.�*
v0

$
ξ

 
0 < ξ < ξ0

 -�1".��9�)�
����-��)�-� ∣

∣

∣

∣

uξ
j + vj

∣

∣

∣

∣

≤ 1
 
j = 1, m

� �"2! � +1��-.��$� -$! �

u(t) ≡ uξ
j + vj, t ∈ [tj − ξ, tj + ξ] , j = 1, m;

u(t) = u(t) + ∆uξ(t), t ∈ T \
m
⋃

j=1

[tj − ξ, tj + ξ] ,

1" "1��!�.��$9 ��-��"� !���")�$ $ 1")��"��$9 -��$��$$
∆uξ(t)

 
t ∈ T

 
�-.���)� !"1+)�$'� ' �

�� ��-��"� !���")�$ �G ��� "1"��"2" +1��-.��$� !.� !")���"(�" '�.�*
ξ

 
0 < ξ < ξ0

 $'��' �

m
∑

j=1

tj+ξ
∫

tj−ξ

h(t)
(

uξ
j − u(t)

)

dt =
m
∑

j=1

2ξh(tj)
(

uξ
j − u(tj)

)

+ o(ξ) = 0,

"�#+!�
uξ

j − u(tj) = e
′

jP
−1 ·O(ξ) = O(ξ), j = 1, m.

�G �
 �
���(��$�

v0
-�3���' ��#  (�"3�

v0 = ζ1/2  2!�
ξ = ζ1/2 �

� ($��-�� �G ���  �G �
 �  1�$ !")���"(�" '�.�*
v0

$
ξ

 
0 < ξ < ξ0

 �  
).�!"-���./�"  $ '�."'

ζ
 1".+($'

η =
m
∑

j=1

tj+ξ
∫

tj−ξ

(

uξ
j + vj − u(t)

)2
/2 dt+

t0+ξ
∫

t0−ξ

v2
0/2 dt =

=
m
∑

j=1

tj+ξ
∫

tj−ξ

(

uξ
j − u(t)

)2
/2 dt+

m
∑

j=1

tj+ξ
∫

tj−ξ

(

uξ
j − u(t)

)

vj dt+

��



+
m
∑

j=1

tj+ξ
∫

tj−ξ

v2
j/2 dt+

t0+ξ
∫

t0−ξ

v2
0/2 dt = o(ζ),

1")#"./#+

m
∑

j=1

tj+ξ
∫

tj−ξ

(

uξ
j − u(t)

)2
/2 dt = o(ξ2) = o(ζ);

m
∑

j=1

tj+ξ
∫

tj−ξ

(

uξ
j − u(t)

)

vj dt =
m
∑

j=1

tj+ξ
∫

tj−ξ

(

uξ
j − u(t)

)

kjv0 dt = v0 · o(ξ) = o(ζ);

m
∑

j=1

tj+ξ
∫

tj−ξ

v2
j/2 dt =

m
∑

j=1

tj+ξ
∫

tj−ξ

(kjv0)
2 /2 dt = v2

0 ·O(ξ) = O(ξ2) ·O(ξ) =

= O(ξ3) = o(ξ2) = o(ζ);

t0+ξ
∫

t0−ξ

v2
0/2 dt = v2

0 ·O(ξ) = o(ζ).

@"!)($���' 1�$ ��))'���$-��'�*
v0

$
ξ

 
0 < ξ < ξ0

 1�$��� ��$�
#�$���$� #�(�)�-� �� +1��-.��$�*

u(t)
 
u(t)

 
t ∈ T

�

∆J(u) = −
m
∑

j=1

tj+ξ
∫

tj−ξ

∆(t)
(

uξ
j + vj − u(t)

)

dt− v0

t0+ξ
∫

t0−ξ

∆(t) dt+ o(ζ) =

= o(ζ) − v0

t0+ξ
∫

t0−ξ

∆(t) dt < 0.

@".+(���"� 1�"�$-"��($� !"#��� -��� -�1".���$� )""��"	 ��$0 �G ��� -
�"(#�*

t ∈ T \T��  �� �-.�9�$*)� �"(#�'$ ����� -� +1��-.��$� �")��./���
).+(�$ ���+	 ��$� )""��"	 ��$0 �G ��� $)).�!+9�)� ���."2$(�" � �

@"#���' ��1��/  (�" �����- "1�$'�./�"2" +1��-.��$�
u(t)

 
t ∈ T

 
��-"�'"���  �).$ 1�$ ��#"�"�"0 "1"��

T�� 1���
{u, T��} � ��-� �"� !���"�

"1"��"� +1��-.��$� �$'���" ��#"0 ).+(�0 $ ��))'���$-���)� - ��"3*"!$&
'"0 (�)�$ ��"��'� G ����

@��!1"."� $'  (�" - �"(#�
t0

+1��-.��$�
u(t)

 
t ∈ T

 ���1$� ����� - �
�!�)/ ��#� � )($���'  (�"

ξ > 0
-�3���" ��#  (�" �� "����#�

[t0 − ξ, t0 + ξ]��� �"(�# ����� -� +1��-.��$� �#�"'� �"(#$
t0

� �
@�$ !")���"(�" '�."'

ξ
'"2+� ���.$�"-��/)� �"./#" !-� ).+(�� �

��
|u(t)| < 1

 
t ∈ [t0 − ξ, t0[

⋃

]t0, t0 + ξ]
,


�
|u(t)| ≡ 1

*"�� 3� �� "!�"' $� ��))'���$-��'�* 1".+$����-�."- �
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� )$.+ -�1".���$� )""��"	 ��$0 �G ��� !.�
t ∈ [t0 − ξ, t0[

⋃

]t0, t0 + ξ]
-

1��-"' ).+(�� $'��'

∆(t) = ψ
′

(t)b− u(t) ≡ 0, t ∈ [t0 − ξ, t0[
⋃

]t0, t0 + ξ] ,
"�#+!�

u(t) ≡ ψ
′

(t)b, t ∈ [t0 − ξ, t0[
⋃

]t0, t0 + ξ] .
� )$.+ ��1����-�")�$ %+�#�$$

ψ
′

(t)b
 
t ∈ T

 1".+(��'

u(t0 − 0) = u(t0 + 0) = u(t0),
�� � � ����� - - �"(#�

t0
��-"�'"��� �

� ).+(�� 
� !.� "1��!�.���")�$ 1��!1".�2��  (�"

u(t) ≡ 1, t ∈ [t0 − ξ, t0[ ,
1".+($'

∆(t) = ψ
′

(t)b− 1 ≥ 0,
�� � �

ψ
′

(t)b ≥ 1, t ∈ [t0 − ξ, t0[ ;
� ��#��

∆(t) = ψ
′

(t)b+ 1 ≤ 0,
�� � �

ψ
′

(t)b ≤ −1, t ∈ ]t0, t0 + ξ] ,
�).$

u(t) ≡ −1, t ∈ ]t0, t0 + ξ]
$.$

|ψ
′

(t)b| = |u(t)| < 1, t ∈ ]t0, t0 + ξ] ,
�).$

|u(t)| < 1, t ∈ ]t0, t0 + ξ] .
� )$.+ ��1����-�")�$ %+�#�$$

ψ
′

(t)b
 
t ∈ T

 $ - ��"' ).+(�� 1�$*"!$' #
-� -"!+ " ��-"�'"� �")�$ ����� -� +1��-.��$� - �"(#�

t0
�

>)��./��� )$�+��$$ ).+(�� 
� $)).�!+9�)� ���."2$(�" �
��"��'� G �� !"#����� �

� )$.+ 1�$��$1$�./�"0 ���($'")�$ !"#������0 - ��"3*"!$'"0 (�)�$
#�$���$� "1�$'�./�")�$ % �#� -�!�.$' - "�!�./�"� +�-��� !��$� �

������
 
 GH � �	�
u0(t)

�
t ∈ T � ���� �	���� 
����	 ����� � �� �

����� �� �� ���� �
T�� ���� {u0, T��} � ����� �
 ������� ���� ��� 
����	 �����

��
u0(t)

�
t ∈ T � ���� ��� ���
 ��

t �
����
 ��� �����"$��&��� $�������"� �������%�����$" ������*� ��������"( �� (��(�$�( ��"�!"�"��&��)
�*���"���"�) 0 $�����	") ���."���"( ������ %����$")�� ��������"# + 
 ������ �����%�����$" �������*� ��������"( ������� )�)��$� 0 %�( ��$���� �� ������(� $�( �����"( �������%�����$" 1� +�� 4 0)�� �� '�)��"$& �� %��*"� )�)��$� 0 ��"��%����	 "� $�� ��'����)�) ���'"�����) �$��'��) 1� + 5 +�" �"����� 5 +�4 + / $�*%� �����"( $����)� 2 +� ��%�$ ��������� + /�������"�) (��(�$�( �".& $�$ ������# 0 ��*%� � '�%��� 1� +�4� 1� +2 4 ��	 ��$���$ �%"��$������ %����$")�� ��������"� 0 ��"�")��	 �� �".&��"$"����"� '�����"(

1
"�"

−1
+


�



@��� � � ���� ������� �������

� �� �!�� '��"!�
� �
 @�"��!+�� %"�'$�"-��$�  ��	 ��$� $ ���.$�� ���+./���"-

"1"��"0 ��! �($
� �� @�"��!+�� !"-"!#$

��.�2��'� 0 ! �.�� '��"! ����-���)� '��"!"' 1��-"2" 1"��!#� 1"�"'+ 
(�" "� $)1"./�+�� �"./#" "1"�+ "2���$(��$0  �� 1�$-.�#�� �"-+9 #"�&
)��+#�$9 � "1"�+ #�$���$� #�(�)�-�  #"�"��� "3�(�" $)1"./�+��)� 1�$
1")��"��$$ "1"���* '��"!"- ��	 ��$� .$��0�"&#-�!���$(��* ��! �( "1�$&
'�./�"2" +1��-.��$� �

� G� ���� �����

@��!.�2��'�0 '��"! ��	 ��$� ��!�($ �
 ���& �
 �G � )")�"$� - -� 1".���$$

!-+* 1�"��!+� � 1�"��!+�� % "�'$�"-��$�  ��	 ��$� $ ���.$�� ���+./���"-
"1"��"0 ��! �($ $ 1�"��!+�� !"-"!#$ �

��./9 -� 1".���$� 1��-"0 1�"��!+�� �-.���)� 1")��"��$� 2�+3"2" ��&
	 ��$� ��!�($ "1�$'�./�"2" +1��-.��$� �- )+� ���"' #.�))� !"1+)�$'�*
+1��-.��$0 � $ -��-.��$� �� ")�"-� ��"2" 2�+3"2" ��	 ��$� )��+#�+�� "1&
�$'�./�"2" +1��-.��$�  � ��#�� -�($).��$� 1�$3.$� ����* ���(��$0 �"&
(�# 1���#.9 (��$� ) "!�"2" +(�)�#� "1�$'�./�"2" +1��-.��$� �� !�+2"0 $
#"'1"���� -�#�"�� 1"����$�."- �� �
� �

@�"��!+�� !"-"!#$ ��-��	 ��� ��3"�+ �.2"�$�'� 1")��"��$�' "1�$&
'�./�"2" +1��-.��$� �- 1��!�./�"' #.�))� !"1+)�$'�* +1��-.��$0 � 1+��'
+�"(���$� ���(��$0 �"(�# 1���#.9 (��$� $ #"'1"���� -�#�"�� 1"����$�."-
) .93"0 ��1���! ��!���"0 �"(�")�/9 �

��# 1"#����" - 1 � G �� 1�$ !"#�����./)�-� ��"��'� G �
  1��!�./�� ' !.�
��!�($ �
 ���& �
 �G � �-.���)� #.�)) ��1���� -��*  #+)"(�"&2.�!#$* %+�#�$0  
�� # � "1�$'�./�"� +1��-.��$�

u(t)
 
t ∈ T

 ��! �($ �
 ���& �
 �G � ��1����-�" $
)")�"$� $� +(�)�#"- !-+* �$1"- �1�$'�� �� �$)+�#� � ��� � �� "!�$* +(�)�&
#�*

T ∗
i = [ ti, ti+1] , i ∈ K∗ = K+

∗

⋃

K−
∗�#�$�$(�)#$* � +1��-.��$� 1�$�$'��� #�$�$(�)#$� ���(��$� �

u(t) ≡ ki = 1, t ∈ T ∗
i , i ∈ K+

∗

��� ��#$* +(�)�#�*
ψ

′

(t)b ≥ 1
 
t ∈ T ∗

i

 
i ∈ K+

∗

� $.$

u(t) ≡ ki = −1, t ∈ T ∗
i , i ∈ K−

∗







��� ��#$* +(�)�#�*
ψ

′

(t)b ≤ −1
 
t ∈ T ∗

i

 
i ∈ K−

∗

� , ��$ #�$�$(�)#$� +(�)�#$
+1��-.��$� ��1����-�" )��#+9�)� ) +(�)�#�'$ -�"�"2" �$1�

T 0
i = ]ti, ti[ , i ∈ K0,

�� #"�"��* !.� ��1����-�"0 %+�#�$$
ψ

′

(t)b
 
t ∈ T

 -�1".����)� ����-��&
)�-"

|ψ
′

(t)b| < 1
 
t ∈ T 0

i

 
i ∈ K0

 $ 1"��"'+

u(t) ≡ ψ
′

(t)b, t ∈ T 0
i , i ∈ K0

�+(�)�#$ -�"�"2" �$1� ���� -�9� #-��$")"3� '$  �� # � �� �$* -�1".����)�
�"� !�)�-"

∆(t) = ψ
′

(t)b− u(t) ≡ 0
 
t ∈ T 0

i

 
i ∈ K0

� � 5.�!#")�/ +1��-.��$�
���+	 ���)� .$	 / - �"(#�* )��#"-#$

ti
 
i ∈ P0

 $
ti

 
i ∈ P 0  +(�)�#"- 1��-"2"

�$1� ) +(�)�#�'$ -�"�"2" �$1� �-)� +1"'��+��� �!�)/ '�"��)�-� $�!�#)"-
)��"2" "1��!�.�9�)� �$����

6

-
t0 =0 t1

t1 t2

t2 t3 = t
∗

1
k0 =1 k2 =1

k1 =−1
−1

t

u

@
@

@
@

@
@ �

�
�

�
�

�

������� � �� 	 >1�$'�./�"� +1��-.��$� - .$��0�"&#-�!���$(�"0 ��! �(�

@��-�� 1�"��!+�� )��"$� 3".�� 2�+3"� ��	 ��$� ��!�($ �
 ���& �
 �G �  ")�"&
-���"� �� ��))'"����$$ ��! �($ "1�$'�./�"2" +1��-.��$� - #.�))� %+�#&
�$0  1")�"����* �� #�� !"' $� "����#"- -�3����"2" ���3$��$� "����#�

T
�

�"� �" ���3$-��/ "����"#
T

�� "����#$ ����"0 !.$��  +($��-�� 1�$ ��"'
")"3���")�$ �+(�)�#$ � $)*"!�"2" !"1+)�$'"2" +1��-.��$� � �!�)/ 1��!.�2�&
��)� )�'� 0 1�")�"0 -��$��� � ��!�(� �
 ���& �
 �G � ��))'���$-���)� - #.�))�
$'1+./)��* +1��-.��$0  �� � � #+)"(�"&1")�"����* %+�#�$0 ) 1")�"���� '
1��$"!"' #-���"-��$�

h > 0
� �"2! � ��!�(� "1�$'�./�"2" +1��-.��$� 3+!��

�#-$-�.����� -�1+#."0 )�1���3�./�"0 ��! �(� #-�!���$(�"2" 1�"2��''$&
�"-��$�  ��))'"�����"0 - )1��#+�)� 4>1�$'$���$� -� 1+#.�* )���$(�)#$*
'"!�.�0 8 ����  � ��	 ��$� ��! �($ �
 ���& �
 �G � 3+!�� $'��/ 4)�+1��/(��� 0 8 -$!
��$)+�"# � �
� � ��" ��	 ��$� -" '�"2$* ).+(��* '"��� 3��/ -1".�� !")��&
�"(�� ' �� 1��#�$#� ��).$

h > 0
� !")���"(�" '�." �  $ �"2!� 1�"��))

��	 ��$� ��! �($ �
 ���& �
 �G � �� ��"' '"� �" ��-��	 $�/ �
� 1�"�$-�"' ).+(�� -"��$#��� 1�"3.�'� 1")��"��$� ��� ")�"-� 1".+&

(���"2" 2�+3"2" ��	 ��$� � �"(�"2" ��	 ��$� ��! �($ "1�$'�./�"2" +1��-.�&
�$� � �).$ 1���'���

h > 0
-�3��� !")���"(�" '�.� '  �" 2�+3"� ��	 ��$�

-1".�� "1��!�.��� )��+#�+�+ "1�$'�./�"2" +1��-.��$�  � ��#� � 1�$3.$&


�



������ ���(��$� �"(�# 1���#.9 (��$� '�� !+ #�$�$(�)#$'$ $ #-��$")"3�&
'$ +(�)�#�'$ +1��-.��$� $ #"'1"���� -�#�"�� 1"����$�."- �$'���" ��#��
)$�+��$� !�'"�)��$�+��)� �� �$)+�#�* � �� $ � �
� �

6

-
0 t

∗

1

−1

t

u

������� � �
 	 >1�$'�./�"� +1��-.��$� - #.�))� $'1+./)��* +1��-.��$0

>1��!�.$' 3".�� )��"2" 1"���$� )��+#�+�� "1�$'�./�"2" +1��-.��$� �
@"!)($���' ).�!+9�$� ($).� $ 1")��"$' '�"��)�-� �

�� #".$(�)�-"
p

1�$��!.����$* "����#+
T

#-��$")"3�* "����#"-

T 0
i = ]ti, ti[ ⊂ T, i ∈ K0 = {1, . . . , p},

�� #"�"��* -�1".����)� ����-��)�-" �

|ψ
′

(t)b| < 1, t ∈ T 0
i , i ∈ K0,

�� ���
$  ).�!"-���./�"  

u(t) ≡ ψ
′

(t)b; ∆(t) = ψ
′

(t)b− u(t) ≡ 0, t ∈ T 0
i , i ∈ K0

��!�)/
|ψ

′

(ti)b| = 1
,
|ψ

′

(ti)b| = 1
 
i ∈ K0

 #�"'�  -"�'"� �"  �"(�#
t1

$
tp

� ,

� ($)." �1�$���#�

s0  "1��!�.��'"� )""��"	 ��$�'$ �

s0 = 0,
�).$

t1 > 0; s0 = 1,
�).$

t1 ≤ 0 < t1,
�� �
�

2!� (����
t1

"3"���(��� �"(#�  - #"�"�"0
|ψ

′

(t1)b| = 1
 $ �"2!� 1�$

s0 = 0�"(#�
t1 ∈ intT

�1��-� 0 +(�)�"# +1��-.��$� #�$�$(�)#$0� , 1�$
s0 = 1�"(#�

t1 6∈ intT
$ ! �.�� 1"! "����#"'

T 0
1 = ]t1, t1[

3+!�' 1"�$'��/ "����"#
T 0

1 = ]t1, t1[ = ]0, t1[ ⊂ T
�1��-�0 +(�)�"# +1��-.��$� #-��$")"3� 0�,

�� ($)." �1�$���#�
s∗

 "1��!�.��'"� )""��"	 ��$�'$ �

s∗ = p,
�).$

tp < t∗; s∗ = p− 1,
�).$

tp < t∗ ≤ tp,
�� �� �

2!� (����
tp

"3"���(��� �"(#�  - #"�"�"0
|ψ

′

(tp)b| = 1
 $ �"2!� 1�$

s∗ = p
�"(#�

tp ∈ intT
�1").�!�$0 +(�)�"# +1��-.��$� #�$�$(�)#$0� , 1�$

s∗ = p− 1
�"(#�

tp 6∈ intT
$ ! �.�� 1"! "����#"'

T 0
p =

]

tp, tp
[ 3+!�' 1"�$&

'��/ "����"#
T 0

p =
]

tp, tp
[

=
]

tp, t
∗
[

⊂ T
�1").�!�$0 +(�)�"# +1��-.��$�

#-��$")"3�0�,


�



G� '�"��)�-" $�!�#)"- ��"'��"-�

K∗ = {s0, . . . , s∗}

1�$��!.���� $*
T

#�$�$(�)#$* +(�)�#"-

T ∗
i = [ ti, ti+1] ⊂ T, i ∈ K∗,

+1��-.��$� �
|ψ

′

(t)b| ≥ 1, t ∈ T ∗
i , i ∈ K∗,

�� �G �
)"2.�)"-���"� ) '�"��)�-"' $�!�#)"-

K0 = {1, . . . , p}

#-��$")"3�* +(�)�#"- �#�$�$(�)#$0 +(�)�"#  ).�!+9�$0 �� "(���!�� '
#-��$")"3� '  $'��� �"� �� �"'�� �  #"�"�"� ���"3��' �� !-� 1"! '�"��&
)�-�

K∗ = K+
∗
⋃

K−
∗

 
K+

∗
⋂

K−
∗ = �

�

K−
∗ =

{

i ∈ K∗: ψ
′

(t)b ≤ −1, t ∈ T ∗
i

}

;

K+
∗ = K∗ \K

−
∗ =

{

i ∈ K∗: ψ
′

(t)b ≥ 1, t ∈ T ∗
i

}

�� ���

�"(�-$!�"  
u(t) ≡ ki = −1

 
t ∈ T ∗

i

 
i ∈ K−

∗

,
u(t) ≡ ki = 1

 
t ∈ T ∗

i

 
i ∈ K+

∗

� �
7"-"#+1�")�/

S =
{

p, s0, s∗, K−
∗ , K

+
∗

} �� �� �
���"-�' )��+#�+�"0 "1�$'�./�"2" +1��-.��$� ��!�($ �
 ���& �
 �G � �

��"'� )��+#�+�� �� ��� "1�$'�./�"2" +1��-.��$� ��))'"��$' '�"��&
)�-" �2" "1��!�.�9�$* �.�'���"- �

{

y; ti, i ∈ P0 = {s0 + 1, . . . , p}; ti, i ∈ P 0 = {1, . . . , s∗}
}

,
�� ���

)")�"�� �� $� "1�$'�./��* -�#�"�� 1"����$�."-
y

�� �
 � $ 1�$��!.���� $*
T

.�-�*
ti

 
i ∈ P0

 $ 1��-�*
ti

 
i ∈ P 0  #"��"- #-��$")"3�* "����#"-

T 0
i

 
i ∈ K0

�� ��� ��!�)/
|ψ

′

(ti)b| = 1
 
i ∈ P0

,
|ψ

′

(ti)b| = 1
 
i ∈ P 0� � ���� "1��!�&

.�9�$� �.�'���� �� ���  '"� �" .�2#" 1")��"$�/ "1�$'�./�"� +1��-.��$� �
@+)�/ 1").� -�1".���$� 1��-"0 1�"��!+�� "1��!�.��� )��+#�+�� "1&

�$'�./�"2" +1��-.��$� �� ��� $ 1�$3.$������ ���(��$� "1��!�.�9�$*
�.�'���"- �� ��� �1"!�"3��� "3 ��"' 2"-"�$�)� - 1 � � �
� � ��!�(� �"3����&
�")�/ � 1�"��!+�� !"-"!#$ � $)1"./�+� ��$ !�����  1")��"$�/ "1�$'�./&
�"� +1��-.��$� ���1����-�+9  #+)"(�"&2.�!#+9 %+�#�$9  +!"-.��-"��&
9�+9 ) .93"0 ��1���! ��!���"0 �"(�")�/9 -)�' "2���$(��$�' ��! �($
�
 ���& �
 �G � $ +)."-$�' "1�$'�./�")�$ �G ���� � @�"��!+�� !"-"!#$ )��"$� "1&
�$'�./�"� +1��-.��$� 1+��' +�"(���$� "1��!�.�9� $* �.�'���"- �� ��� )
1"'"� /9 ��	 ��$� )1��$�./��* #"��(��* +��-���$0 !"-"!#$ �


�



� GH 
�������
 � �������
��� ; ��� ���� � 
�
���

�������
��� ������� �
�
��

@+)�/
{u, T��} � "1"��"� +1��-.��$�  !.� #"�"�"2" �� -�1".��9�)�

+)."-$� "1�$'�./�")�$ �G ��� � @�$)�+1��' # %"�'$�"-��$9 "1"��"0 ��! �&
($ �

��! �(+ �
 ���& �
 �G � �#�# +�� 2"-"�$.")/ -�	 �� ��))'"��$' - #.�))� $'&
1+./)��* +1��-.��$0  �� � � #+)"(�"&1")�"����* %+�#�$0 ) 1")�"���� '
1��$"!"' #-���"-��$�

h > 0
� � .� ��"2" -�3���' ��."� ($)."

N > 1
$

���"3��' "����"#
T = [0, t∗]

��
N

��-��* (�)��0 ���))'"��$' )��#+ ) ��-&
�""�)�"�� $'$ +�.�'$� ��� �
� $ �$)+�"# � ���

-
τ0 τ1 τ2 · · · τN−1 τN t

0 h 2h · · · (N−1)h Nh= t∗

������� � �� 	 7��#� ) ��-�""�)�"�� $'$ +�.�'$

τi = ih, i = 0, N ; h = t∗/N.
�� �
 �

@"."� $'
u(t) ≡ ui = const, t ∈ [τi, τi+1], i = 0, N − 1.

�� �� �
�"2!� !.� �.�'���"- ��!�($ �
 ���& �
 �G � 1".+($' �

�� !.� #�$���$� #�(�)�-� �
 ��� �

J(u) =
t∗
∫

0

u2(t)/2 dt =
N−1
∑

i=0

τi+1
∫

τi

u2(t)/2 dt =
N−1
∑

i=0

u2
i/2

(i+1)h
∫

ih

dt = h
N−1
∑

i=0

u2
i/2;


� !.� 2�"'���$(�)#$* "2���$(��$0 �
 �G � �

|ui| ≤ 1, i = 0, N − 1.

�  ��#"���  $)1"./�+� % "�'+.+ �"	$ �
 ��� �!.� )$)��'� �
 �
��  
�� !.� ���'$��./�"2" "2���$(��$� �
 ��� 1".+($' �

Hx(t∗) = HF(t∗, 0)x0 +
t∗
∫

0

HF(t∗, t)bu(t) dt =

= HF(t∗, 0)x0 +
N−1
∑

i=0

τi+1
∫

τi

h(t)u(t) dt =

= HF(t∗, 0)x0 +
N−1
∑

i=0

ui

(i+1)h
∫

ih

h(t) dt = g.


�



�-�!�' "3"���(��$� !.� -�#�"�"- $ '���$�� �

ũ =
(

ui, i = 0, N − 1
)

; b̃ =
(

b̃i, i = 1, m
)

= g −HF(t∗, 0)x0;

Ã =
(

ãi, i = 0, N − 1
)

=







(i+1)h
∫

ih

h(t) dt, i = 0, N − 1





 .

�"2!� - #.�))� $'1+./)��* +1��-.��$0 �� ��� ��! �(� �
 ���& �
 �G � 3+!�� �#-$&
-�.����� ).�!+9� �0 -�1+#."0 )�1���3�./�"0 .$��0�"&#-�!���$(�"0 ��&
! �(� �1")�"���� 0 '�"� $��./

h
�� '$�$'+' ��.�-"0 %+�#�$$ �� -.$���� �

N−1
∑

i=0

u2
i/2 → min, Ãũ = b̃, |ui| ≤ 1, i = 0, N − 1.

�� ��	�

��! �(+ �� ��	� 3+!�' ���� -��/ "1"��"0 ��! �(�0 � �� '"� �" ��	 ��/ .9&
3� '$ $�-�)��� '$ '��"! �'$  ��1�$'��  1��'� '$ "1"��� '$ '��"!�'$ �1��&
-"2" $.$ -�"�"2" 1"��!#��  ��))'"������ '$ - )1��#+�)� 4>1�$'$���$�
-� 1+#.�* )���$(�)#$* '"!�.�0 8 ����  $.$ !-"0)�-���� '$ "1"��� '$ '��"&
! �'$ �

� #�(�)�-� ��(�./�"0 "1"��

J�� = {i1, . . . , im} ⊂ {0, 1, . . . , N − 1}
��!�($ �� ��	� -"�/'�' �"'��� ��* "����#"-

[τi, τi+1] = [ih, (i+ 1)h], i ∈ {i1, . . . , im},
#"�"�� ' 1�$��!.���� "1"���� '"'���� $�

T�� = {t1, . . . , tm}
�

t1 ∈ [τi1, τi1+1] = [i1h, (i1 + 1)h], . . . , tm ∈ [τim, τim+1] = [imh, (im + 1)h].
� )$.+ ��-��"� !���")�$ "1"��"0 '���$��

P = (h(ti), ti ∈ T��) $)*"!�"0
��!�($ �
 ���& �
 �G � 1�$ 4!")���"(�" '�."' 8

h
3+!�� ��-��"� !��� $ 1")��"&

����� "1$)���� ' -�	 � )1")"3"' "1"���� '���$��

P̃ = (ãi, i ∈ J��) =





τi+1
∫

τi

h(t) dt, i ∈ J��




"1"��"0 ��! �($ �� ��	� �
�).$ ��!�(+ �� ��	� ��	 ��/ !-"0)�-���� ' '��"!"'  �" ��"0 ��(�./�"0

$�% "�'��$$ -1".�� !")���"(�" � B.2"�$�' !-"0)�-���"2" '��"!� ).�!+��
.$	 / !"1".�$�/ 1�")�"0 ���(�./�"0 � 1�"��!+�"0 1")��"��$� ��(�./�"2"
)"2.�)"-���"2" "1"��"2" 1)�-!"1.��� �

� ).+(�� ��	 ��$� "1"��"0 ��! �($ 1��'� '$ '��"! �'$ ��"3*"!$'" 1"&
)��"$�/ ��#�� ��(�./��0 1.��

ũ =
(

ui, i = 0, N − 1
)

.


�



�).$ ��(�./�"� +1��-.��$� ��! �($ �
 ���& �
 �G � � #+)"(�"&1")�"����� %+�#&
�$�  � �"(���  "�� 1")�"���� �� #�� !"' $� "����#"-

[τi, τi+1]
 
i = 0, N − 1

 
1")��"���"2" ���3$��$� "����#�

T
 �� � � $'��� '�)�" �"� !�)�-" �� ��� !.�

#"�#�����* ���(��$0
ui

 
i = 0, N − 1

 �" ��" �"� !�)�-" $ "1��!�.��� ��&
(�./��0 1.�� � � 1�"�$-�"' ).+(�� �+� �" -")1"./�"-��/)� !"1".�$��./&
�"0 ��(�./�"0 1�"��!+�"0 ��'��� ��(�./�"2" +1��-.��$� $)*"!�"0 ��! �($
�� 1")�"����� 4)��!�$� 8 ���(��$� �#�# ��" )!�.��" - % "�'+.� �G ��� !.�
ξ

&"#��)��")��0 "1"���* '"'���"-� �� ��* "����#�*  �� #"�"��* �"� !�)�-"
�� ��� �� -� 1".����)� �1" ��"��'� " )��!��'  ��#$� 1")�"����� ���(��$�
-)�2! � )+� �)�-+9���

@+)�/

{ũ0, J0��}, ũ0 =
(

u0
i , i = 0, N − 1

)

, J0�� = {i01, . . . , i
0
m},

� "1�$'�./��0 "1"��� 0 1.�� ��! �($ �� ��	� � �"-"� !"1+)�$'"� +1��-.�&
�$�

u(t)
 
t ∈ T

 ��! �($ �
 ���& �
 �G � �"1�$'�./�"� - #.�))� %+�#�$0 �� ����
1")��"$' ).�!+9�$' "3���"' �

u(t) = u0
i , t ∈ [τi, τi+1], i = 0, N − 1.

>1"���� '"'���� !.� �"-"0 "1"��

T �� = {t1, . . . , tm}

��0!�' 1" �"'���'
i01, . . . , i

0
m

�"-�* "1"���* "����#"- � -"�/'�'  ��1�$&
'��  $* )���!$�� �

t1 =
τi01 + τi01+1

2
=
i01h+ (i01 + 1)h

2
= i01h+

h

2
= τi01 +

h

2
, . . . , tm = τi0m +

h

2
�'"� �" - #�(�)�-� �"-�* "1"���* '"'���"- -'�)�" )���!$� "1"���* "�&
���#"- 3���/ $* .�-�� $.$ 1��-�� #"��� � +($�� -�� 1�$���"� 1�$ 1"&
)���"-#� ��!�($ �
 ���& �
 �G � )"2.�	 ��$� �

u(t) = [u(t− 0) + u(t+ 0)] /2
 ��"�

-�3"� 1��#�$(�)#$ �� 1"-.$��� �� ! �./��0	 $� -�($).��$� � �
@" �"-"'+ "1"��"'+ +1��-.��$9

{u, T ��} "1��!�.$' )��+#�+�+ "1�$&
'�./�"2" +1��-.��$� �� ��� �1�$ !")���"(�" '�."'

h
��" '"� �" )!�.��/�

$ -� ($).$' 1�$3.$������ ���(��$� �2" "1��!�.�9�$* �.�'���"- �� ��� �
� .� ��"2" )��(�.� 1"

{u, T ��} 1"!)($���' -�#�"� 1"����$�."-
y

�� �
� � ��&
��'  $���2�$�+� )"1��� ���+9 )$)��'+ �� ��� )1��-�&��.�-" �$ )��"� ��#$'
"3���"' #"����#�"�$9

ψ(t)
 
t ∈ T

�  1" 1"-�!��$9 %+�#�$$
ψ

′

(t)b
 
t ∈ T�1 � � ��� ��0!�' ")��./��� "1��!�.�9� $� �.�'���� $� �� ��� $ "1��!�.$'

)��+#�+�+ �� ��� �
7 ��"0 $�% "�'��$�0 1���0!�' # 1�"��!+�� !"-"!#$ �


�



� G
 
�������
 �������
�� !"-"!#+ �- #�(�)�-� ��(�./�"0 $�% "�'��$$� 1���! ���)� )��+#�+��

S
�� ��� $ "1��!�.�9�$� �.�'���� �� ���  -#.9 (�9�$� - )�3� -�#�"� 1"���&

�$�."-
y

 � ��#� � 1�$��!.����$�
T

#"���
ti

 
i ∈ P0 = {s0 + 1, . . . , p}

 $
ti

 
i ∈ P 0 = {1, . . . , s∗}

 #-��$")"3�* "����#"-
T 0

i

 
i ∈ K0 = {1, . . . , p}

� @"
��"0 $�% "�'��$$ ����+!�" 1")��"$�/ �1�$ ��"3*"!$'")�$ � #-��$+1��-.�&
�$�

ω(t)
 
t ∈ T

�

ω(t) = ψ
′

(t)b = y
′

HF(t∗, t)b = y
′

h(t),
t ∈ T 0

i = ]ti, ti[ , i ∈ K0 = {1, . . . , p};

ω(t) ≡ ki, t ∈ T ∗
i = [ ti, ti+1] , i ∈ K∗ = {s0, . . . , s∗}

(ki = −1, i ∈ K−
∗ ; ki = 1, i ∈ K+

∗ ).

�� ����

�� #-��$+1��-.��$$  "(�-$!�"  -�1".��9�)� +)."-$� "1�$'�./�")�$
�G ��� $ 2�"'���$(�)#$� "2���$(��$� �
 �G �  �" �� -� 1".����)�  -"�'"� �"  
���'$��./�"� "2���$(��$� �
 ��� � ��! �(� �"3�����")�/� !"-"!#$ � ��# )#"�&
��#�$�"-��/ #-��$+1��-.��$�  (�"3� �� �"-"' #-��$+1��-.��$$ -�1".��&
.")/ ��#�� $ ���'$��./�"� "2���$(��$� �

�"���#�$�"-#+ #-��$+1��-.��$� ��.�'���� 3�)#"��(�"'���"2" %+�#&
�$"��./�"2" 1�")����)�-�� 1�"$�-�!�' 1+��' #"���#�$$ #"��(�"2" ��3"��
($)�. � "1��!�.�9� $* �.�'���"- �� ��� � �".$(�)�-" ��$* �.�'���"- ��-�"
m + |P0| + |P 0|

� @".+($' +��-���$� !.� -�($).��$� "1��!�.�9� $* �.�&
'���"- 1" $* ��(�./�� ' 1�$3.$���$�' �

��
m

+��-���$0 $'��' $� +)."-$� -� 1".���$� ���'$��./�"2" "2���$&
(��$�

H�(t∗) = HF(t∗, 0)x0 +
t∗
∫

0

HF(t∗, t)bω(t) dt =

= HF(t∗, 0)x0 +
s∗
∑

i=s0

ki

ti+1
∫

ti

h(t) dt+
p
∑

i=1

ti
∫

ti

h(t)y
′

h(t) dt = g,

2!�
�(t)

 
t ∈ T

� ����#�"�$� )$)��'� �
 �
�  )""�-��)�-+9� �� #-��$+1��-&
.��$9 �� ���� ,

t0 = 0,
�).$

s0 = 0; t1 = 0,
�).$

s0 = 1;
tp+1 = t∗,

�).$
s∗ = p; tp = t∗,

�).$
s∗ = p− 1;


� �� �
|P0| + |P 0|

+��-���$0 � $� +)."-$0 )�� #"-#$ #-��$+1��-.��$�
���1����-�"0 %+�#�$$� - '"'����

ti
 
i ∈ P0

 $
ti

 
i ∈ P 0 �

ω(ti) = y
′

h(ti) = ki−1, i ∈ P0;

ω(ti) = y
′

h(ti) = ki, i ∈ P 0.


�



�-�!�' "3"���(��$�

f
(

ti, i ∈ P0; ti, i ∈ P 0; y
)

=
s∗
∑

i=s0

ki

ti+1
∫

ti

h(t) dt+
p
∑

i=1

ti
∫

ti

h(t)h
′

(t)y dt+

+HF(t∗, 0)x0 − g;

qi (ti; y) = y
′

h(ti) − ki−1, i ∈ P0;
�� ��
�

ri (ti; y) = y
′

h(ti) − ki, i ∈ P 0.

�"2!� $'��'
m+ |P0| + |P 0|

+��-���$0 !"-"!#$ �

f
(

ti, i ∈ P0; ti, i ∈ P 0; y
)

= 0;

qi (ti; y) = 0, i ∈ P0;
ri (ti; y) = 0, i ∈ P 0.

�� ����

>1��!�.��$� �.�'���� �� ���  )")��-.�9�$� ��(�./�+9 $�%"�'��$9
!.� 1�"��!+�� !"-"!#$  - "3� �' ).+(�� �� �-.�9�)� ��	 ��$�' )$)��'�
�� ���� �

@"!)($���' !.� )$)��'� �� ���� '���$�+ �#"3$ �

G = G( t i, i ∈ P0; ti, i ∈ P 0; y ) =









G11 0 G13

0 G22 G23

0 0 G33









;

G11 =





∂qj/∂ti, i ∈ P0

j ∈ P0



 ; G13 =





∂qj/∂yi, i = 1, m
j ∈ P0



 ;

G22 =





∂rj/∂ti, i ∈ P 0

j ∈ P 0



 ; G23 =





∂rj/∂yi, i = 1, m
j ∈ P 0



 ;

G33 = (∂f/∂yi, i = 1, m) .
@"!)($���'

∂qi
∂ti

=
∂

∂ti

(

y
′

h(ti) − ki−1

)

=
∂

∂ti

(

y
′

HF(t∗, ti)b
)

= y
′

H
∂F(t∗, ti)

∂ti
b =

= −y
′

HF(t∗, ti)Ab = −y
′

Hm(ti), i ∈ P0;

∂ri
∂ti

=
∂

∂ti

(

y
′

h(ti) − ki

)

=
∂

∂ti

(

y
′

HF(t∗, ti)b
)

= y
′

H
∂F(t∗, ti)

∂ti
b =

= −y
′

HF(t∗, ti)Ab = −y
′

Hm(ti), i ∈ P 0;

∂qj
∂ti

= 0
1�$

j 6= i, i, j ∈ P0;
∂rj
∂ti

= 0
1�$

j 6= i, i, j ∈ P 0;

∂qj
∂yi

=
∂

∂yi

(

y
′

h(tj) − kj−1

)

=
∂

∂yi

(

h
′

(tj)y
)

= hi(tj), i = 1, m, j ∈ P0;

�7



∂rj
∂yi

=
∂

∂yi

(

y
′

h(tj) − kj

)

=
∂

∂yi

(

h
′

(tj)y
)

= hi(tj), i = 1, m, j ∈ P 0

(��� �(∂qj
∂yi

, i = 1, m

)

= h
′

(tj), j ∈ P0;

(

∂rj
∂yi

, i = 1, m

)

= h
′

(tj), j ∈ P 0
)

;

∂f

∂yi
=

∂

∂yi









p
∑

j=1

tj
∫

tj

h(t)h
′

(t)y dt









=
p
∑

j=1

tj
∫

tj

∂

∂yi

(

h(t)h
′

(t)y
)

dt =

=
p
∑

j=1

tj
∫

tj

h(t)h
′

(t)ei dt, i = 1, m









��� � ( ∂f
∂yi

, i = 1, m

)

=
p
∑

j=1

tj
∫

tj

h(t)h
′

(t) dt









,

2!�
m(t) = F(t∗, t)Ab

,
ei

� �!$�$(��0
m

&-�#�"� � ��#$' "3���"'  

G11 = diag
(

−y
′

Hm(ti), i ∈ P0

)

; G22 = diag
(

−y
′

Hm(ti), i ∈ P 0
)

;

G13 =





h
′

(ti)
i ∈ P0



 ; G23 =





h
′

(ti)
i ∈ P 0



 ; G33 =
p
∑

i=1

ti
∫

ti

h(t)h
′

(t) dt.

>)��./��� 3."#$ '���$�� �#"3$ �+.�-�� �

G12 =





∂qj/∂ti, i ∈ P 0

j ∈ P0



 = 0; G21 =





∂rj/∂ti, i ∈ P0

j ∈ P 0



 = 0;

G31 = (∂f/∂ti, i ∈ P0) = 0; G32 =
(

∂f/∂ti, i ∈ P 0
)

= 0,
�� # �

∂qj
∂ti

=
∂

∂ti

(

y
′

h(tj) − kj−1

)

= 0, i ∈ P 0 j ∈ P0;

∂rj
∂ti

=
∂

∂ti

(

y
′

h(tj) − kj

)

= 0, i ∈ P0 j ∈ P 0;

∂f

∂ti
=

∂

∂ti









s∗
∑

j=s0

kj

tj+1
∫

tj

h(t) dt+
p
∑

j=1

tj
∫

tj

h(t)y
′

h(t) dt









=

= ki−1h(ti) − h(ti)y
′

h(ti) = h(ti)
(

ki−1 − y
′

h(ti)
)

= 0, i ∈ P0;

∂f

∂ti
=

∂

∂ti









s∗
∑

j=s0

kj

tj+1
∫

tj

h(t) dt+
p
∑

j=1

tj
∫

tj

h(t)y
′

h(t) dt









=

= −kih(ti) + h(ti)y
′

h(ti) = h(ti)
(

y
′

h(ti) − ki

)

= 0, i ∈ P 0.

� �



��#$' "3���"'  '���$�� �#"3$
G

��-��

G=































diag(−y
′

Hm(ti), i∈P0)

���
0

��� h
′

(ti)
i∈P0& & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & &

0
���
diag(−y

′

Hm(ti), i∈P
0)

��� h
′

(ti)
i∈P 0& & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & &

0

���
0

��� p
∑

i=1

ti
∫

ti
h(t)h

′

(t) dt































.

@+)�/ -�1".��9�)� +)."-$� �

rank
(

h(t), t ∈ T 0
)

= m,
�� ��G �

2!�
T 0 =

{

t ∈ T :
∣

∣

∣ψ
′

(t)b
∣

∣

∣ < 1
}

=
⋃

i∈K0

T 0
i =

⋃

i∈K0

]ti, ti[ ,
$

∂

∂t

(

ψ
′

(t)b
)

∣

∣

∣

∣

t=ti
=

∂

∂t

(

y
′

h(t)
)

∣

∣

∣

∣

t=ti
6= 0, i ∈ P0;

∂

∂t

(

ψ
′

(t)b
)

∣

∣

∣

∣

t=ti
=

∂

∂t

(

y
′

h(t)
)

∣

∣

∣

∣

t=ti
6= 0, i ∈ P 0 �� ����

�"(�-$!�"  +)."-$� �� ��G � ��)�" )-����" ) +1��-.��'")�/9 !$��'$(�)#"0
)$)��'� , ��-�1".���$� +)."-$0 �� ���� '"��� 1�"$�"0�$ 1�$ "(��/ ��!#"'
)"(����$$ 1���'���"- ��!�($� � �"2!�

detG 6= 0
 $ )$)��'� �� ���� $'���

�!$�)�-���"� ��	 ��$� �
��	 ��/ )$)��'+ �� ���� '"� �" .93� '$ '��"! �'$  ��1�$'��  '��"!"'

�/9�"�� ).�!+9�$' "3���"' �
@+)�/ $�-�)��" ��(�./�"� 1�$3.$���$� # "1��!�.�9�$' �.�'����'

�� ��� �
z0 =

(

t0i , i ∈ P0; t0i , i ∈ P 0; y0
)  #"�"�"� 1")��-.��� "1"���� ��&

! �(� � 7.�!+9� �� 1�$3.$���$� ��0!�' 1" % "�'+.�

zk =zk−1−G−1(zk−1)













qi
(

tk−1
i ; yk−1

)

, i∈P0

ri
(

tk−1
i ; yk−1

)

, i∈P 0

f
(

tk−1
i , i∈P0; t

k−1
i , i∈P 0; yk−1

)













, k=1, 2, . . .
�� ����

��($).��$� 1" %"�'+.� �� ���� �- ).+(�� )*"!$'")�$ '��"!� �/9�"���
1�"!".���' !" ��* 1"�  1"#� �� 3+!+� -� 1".���� ����-��)�-�

∣

∣

∣qi
(

tk0

i ; yk0

)∣

∣

∣ ≤ ε, i ∈ P0;
∣

∣

∣

∣

ri
(

tk0

i ; yk0

)∣

∣

∣

∣

≤ ε, i ∈ P 0;
�� ����

∥

∥

∥

∥

f
(

tk0

i , i ∈ P0; t
k0

i , i ∈ P 0; yk0

)∥

∥

∥

∥

≤ ε.
�"2! � !.� #-��$+1��-.��$�

ω(k0)(t), t ∈ T,

�




#"�"�"� 1".�")�/9 "1��!�.���)� ) 1"'"� /9 �.�'���"-

zk0 =
(

tk0

i , i ∈ P0; t
k0

i , i ∈ P 0; yk0

)

,
) ��! ���"0 �"(�")�/9 -�1".����)� ���'$��./�"� "2���$(��$�

H� (k0)(t∗) = g,
� ��#�� ) ��!���"0 �"(�")�/9 �1" ���(��$9 #"+1��-.��$� � ��0!��� �"(#$
1���#.9 (��$� ��!�)/

�(k0)(t)
 
t ∈ T

� ����#�"�$� )$)��'� �
 �
�  )""�-��&
)�-+9� �� #-��$+1��-.��$9

ω(k0)(t)
 
t ∈ T

� � @"��"'+ ��" #-��$+1��-.��$�
'"� �" 1�$���/ - #�(�)�-� "1�$'�./�"2" +1��-.��$� ��!�($ �

� 1�"�$-�"' ).+(��  �).$ (���� �? � $�����$0 '��"! � �/9�"�� �� +)��&
�"-$.)� #-�!���$(�� 0 ��#"� +'��/	 ��$� -�.$($� �� ���� $.$ 1�"$�"	."
$�'����$� ����+	 ��$�� )��+#�+�� �� ���  ��0!���"0 - ���+./���� ��	 ��$�
"1"��"0 ��! �($  +'��/	$- 1���'���

h
���1�$'��  1"."� $-

h = h/2
�  1�$&

)�+1��' # %"�'$�"-��$9 $ ��	 ��$9 �"-"0 "1"��"0 ��! �($ � ��(�./��0
"1"���0 1.�� �"-"0 "1"��"0 ��!�($ 1")��"$'  $)1"./�+� �"-"� "1"��"�
+1��-.��$�

{u, T ��}  1".+(���"� - ���+./���� ��	 ��$� 1��!�!+� �0 "1"�&
�"0 ��! �($ �

@��� � B��������� ������

� "1$)���"' -�	 � '��"!� ��	 ��$� ��! �($ �
 ���& �
 �G � 1�"��!+�� !"&
-"!#$ )")�"$� - ��	 ��$$ )$)��'� �� ���� '��"!"' �/9�"�� � �� '��"!"-
-� ($).��$0 $�-�)��"  (�" )+� �)�-+�� ��#�� "#��)��")�/ ��	 ��$�

z
)$)��&

'� �� ���� (�"  $)*"!� $� .93"0 �"(#$
z0 ��"0 "#��)��")�$  '��"! �/9�"��

)��"$� )*"!��+9 )� 1").�!"-���./�")�/
zk  

k = 1, 2, . . .
 1�$3.$� ��$0 ��&

	 ��$� )$)��'� �� �����
��"3*"!$'�� 1�$3.$���$� !.� 1�"��!+�� !"-"!#$ )��"$� "1"����

��!�(� �� ��	� �� #"��(�"� ($)." $�����$0 � @�$ ��"' !")���"(�" #"��(�"�
($)." ��� "3��� ��/)� # 1��'"0 $ )"1������"0 )$)��'�' !.� %"�'$�"-�&
�$� �.�'���"- "1"��"0 ��! �($ �

��#$' "3���"'  )1��-�!.$-�
������
 � G� �" )*"!$'")�$ '��"!�� )��������  �� �� � �� ���
 '�$

��#� "� ��& $ "� ��& ���	 � ����#��%� #��	 � ��� �%� �� ������ ��
 �� � ���� 
$

 ����� ���� � �� ��� �'���� �	��� ��� ���� �� �� ���� ���

t∗
� ��� ���

���	 ������ �	������ �
����� ω (t | zk
)�
t ∈ T

�
k = 1, 2, . . .

� �� ��
	 
� �

� ���� �	��� 
 
����	 ����

u0(t)
�
t ∈ T

� '���#� "� ��& $ "� ��& � � 	
 ��
$
	 ��� �	 ���
 ����� �� ������

zk → zk+1 ���� �� �#�� �� ���� �%� �� �����

��



��
 
� � ����

 ���
� ���� � � �� ��� �'���� �	��� ��� ���� �� �� ����$
� ����

t∗
�

�
���
��� � G� � �� �� ���	� ��� � � � �� ������ ������  �� ��� �� $
#��	 ���
  �
 �� �� %���'����� � ��� #� �  �
 �� ����'��� �� � �	��� �� �$
�� ����  �� ���� �� � �%� ����#����� "��� ��� ��	��� �
 � ��'��	 � � �	

	������$��%	 ����� '���#�& �

� .� ��"2" !")���"(�" -� ($).��$� - 1�"��!+�� !"-"!#$ "�2��$�"-��/
�� !.� 1��'"0 )$)��'� �
 �
�  � !.� ��# ����-��'"0

π
&)$)��'� � )$)��'�

1"��!#�
2n

 )")�"�� �0 $� 1��'"0 �
 �
� $ )"1������"0 �� ��� )$)��' �






ẋ = Ax + bu , x(0) = x0;

ψ̇ = −A
′

ψ , ψ(0) = ψ0.

�� ���

@�$ ��"' ��(�./�"� ���(��$�
ψ0

!.� )"1������"0 )$)��'� ����+!�" -�&
($).$�/  1�"$���2�$�"-�- �1").� ��	 ��$� "1"��"0 ��!�($� )"1������+9
)$)��'+ �� ��� )1��-�&��.�-" �

��# 1"#����" - 1 �1 � � ��? � ��  "1�$'�./�"� +1��-.��$� ��! �($ �
 ���& �
 �G �
�� #�$�$(�)#$* $ #-��$")"3�* "����#�* )""�-��)�-���" "1��!�.���)� ).�&
!+9�$' "3���"' �

u(t) ≡ ki, t ∈ T ∗
i , i ∈ K∗;

u(t) ≡ ψ
′

(t)b, t ∈ T 0
i , i ∈ K0.

�� �
�

7 +(��"' �� �
� +��-���$� $� )$)��'� �� ��� �� #�$�$(�)#$* $ #-��$")"&
3�* "����#�* '"� �" ��1$)��/ - -$!� ).�!+9�$* )$)��' �







ẋ = Ax + bki ,

ψ̇ = − A
′

ψ ,
t ∈ T ∗

i , i ∈ K∗;
�� �� �

$






ẋ = Ax+ bb
′

ψ ,

ψ̇ = − A
′

ψ ,
t ∈ T 0

i , i ∈ K0.
�� �G �

�-�!�' "3"���(��$� �

z(t) = (x(t), ψ(t)) ∈ R2n; b = (b, 0) ∈ R2n; b̃ = (0, b) ∈ R2n;

A(t) =

[

A 0

0 −A
′

]

= A∗ ∈ R2n×2n, v(t) = ki, t ∈ T ∗
i , i ∈ K∗;

A(t) =

[

A bb
′

0 −A
′

]

= A0 ∈ R2n×2n, v(t) = 0, t ∈ T 0
i , i ∈ K0.

�"2!�  "3��!$��� )$)��'� �� ��� $ �� �G �  
π

&)$)��'+ �� ��� '"� �" ��1$)��/ )
1"'"� /9 ).�!+9� �0 )$)��'� ) #+)"(�"&1")�"���"0 '���$��0

A(t)
�

ż(t) = A(t)z(t) + bv(t), z(0) = z0 = (x0, ψ0).
�� ���

��



� 1��-.��$� $)*"!�"0 ��!�($ �
 ���& �
 �G � �� #-��$")"3�* "����#�* -���&
����)� (���� ����#�"�$9 )$)��'� �� ��� ).�!+9�$' "3���"' �

u(t) = z
′

(t)b̃, t ∈ T 0
i , i ∈ K0.

�)*"!� $� "�2��$���$$ -� ($).��$0 - 1�"��!+�� !"-"!#$ !.� )$)��'�
�� ���  !"3�-$' # "1��!�.�9�$' �.�'����' �� ���

n
&-�#�"�

ψ0
 � # +��-���$&

�' !"-"!#$ �� ���� � ���3"-��$� -�1".���$� ��(�./�"2" +)."-$� �� 1��-� 0
#"��� #"����#�"�$$ $� �� ��� �

ψ(t∗) −H
′

y = 0.

� ��-���$� !"-"!#$ ����+!�" 1���%"�'+.$�"-��/ - ���'$��* )$)��'�
�� ���  $)1"./�+� %+�!�'����./�+9 '���$�+ ��	 ��$0

Φ(t, τ), t, τ ∈ T, τ ≤ t,

)$)��'�
ż = A(t)z,

#"�"��� �� )��#� #�$�$(�)#$* $ #-��$")"3�* "����#"- 4)#.�$-���)� 8 $�
%+�! �'����./��* '���$�

F∗(t, τ)
$

F0(t, τ)

)$)��'
ż = A∗z

$
ż = A0z

)""�-��)�-���" �
� 1��"3���"-����* +��-���$�* !"-"!#$ 3+!+� "�)+�)�-"-��/  "(�-$!&

�"  $���2��.� 1" #-��$")"3� ' "����#�'  $  ).�!"-���./�"  !.� "�2��$��&
�$$ $* ��	 ��$� '��"!"' �/9�"�� ��"3*"!$'" $���2�$�"-��/ )$)��'� 1"
)+��9� $')� "� $�����$$ # $�����$$ "����#�' �#�# $ - ���!�.� 
 !.�
.$��0�"&��2.�!#"0 ��! �($ � �

@�"-�)�$ !�./��0	$� ��))+� !��$� " #"��(�")�$ ��#$' "3���"' "�2�&
�$�"-���"2" �.2"�$�'� ����."2$(�" �"'+ #�# ��" 1�"!�.��" - ��'� �	 !.�
.$��0�"&��2.�!#"0 ��! �($ � 1��!.�2���)� )�'")�"���./�" �

��



	 � ���������� ������� ������������� ����������
��� �������� ������

� )$.+ �"2"  (�" ��! �(� "1�$'�./�"2" +1��-.��$�  $)).�!+�'�� - ! ��&
�"' ���!�.�  $'��� '�"2" "3�$* �.�'���"- ) ��!�(�0 $� ���!�.� � $�."&
���$� '����$�.� ���!�.� 
 1�$-�!�' - 3".�� #"�"�#"' -$!� �

@��� � %������
��������� ������ ������������
���������� � ������������� � ���������� ������ �
������� � �������

�� % $#)$�"-���"' 1�"'�� +�#� -��'��$
T = [0, t∗]

- #.�))� #+)"(�"&
��1����-��* 3 +1��-.��$0

u(t), t ∈ T ; u(t) = [u(t− 0) + u(t+ 0)] /2,

��))'"��$' ��!�(+ "1�$'�./�"2" +1��-.��$�

J(u) =
t∗
∫

0

|u(t)| dt→ min
u(·)

,
�� ���

ẋ = Ax+ bu, x(0) = x0,
�� �
�

Hx(t∗) = g,
�� �� �

|u(t)| ≤ 1, t ∈ T,
�� �G �

#"�"��� "�.$(���)� "� ��! �($ �
 ���& �
 �G �  ��))'"�����"0 - ���!�.� � �"./#"
��2.�!#$' #�$���$�' #�(�)�-� �� ��� �

@")#"./#+ ")��./��� �.�'���� �� �
�& �� �G � ! ���"0 .$��0�"&��2.�!#"0
��!�($ )"-1�! �9� ) �.�'����'$ .$��0�"&#-�!���$(�"0 ��! �($  �" -)� 1"&
�)���$� # ��! �(� �� ���& �� �G �  1"���$� !")�+1�"2"  !"1+)�$'"2"  "1�$'�./&
�"2" +1��-.��$0  "1"��"2" +1��-.��$� �� ��#�� )-������� ) ��$'$ "3�$'$
�.�'����'$ % "�'+.� $ ��"��'� � !")."-�" 1����")��)� $� 1 �1 � 
 ��&
 �G �

�)#.9 (��$� )")��-.��� 1"���$� ��-� �"� !���"2" "1"��"2" +1��-.�&
�$� � @��!.�2���)� )�'")�"���./�" 1�"���.$�$�"-��/ ��"3*"!$'")�/ --�&
!��$� ��"2" 1"���$� - ).�!+9� �0 %"�'+.$�"-#� �

>1"��"� +1��-.��$�
{u, T��} 3+!�' ����-��/ ��-� �"� !���� ' - ��!�(�

�� ���& �� �G �  �).$
|u(t)| < 1, u(t) 6= 0, t ∈ T��. �� ���

������ �������������������  ���!"# (��(�$�( ���')���� ."���") " %�( ����)�$�"���)�# �
%����# *���� �"��#�����*��%��# '�%��" + /'���$�� 0 �$� ���%��&��) %�( ��� (��(�$�( ����� ��������
���$�(����  ���!"# 1-$� ����'����$�( � � +� + � +� 0 � +34 + /)���� �� -$�$ ����� " ��"��$"����� )�$�%��.��"( 0 ��"�����)�# � � +� + � +��� +3 +

��



@��� � *������� �������������


 �� 6"�'+.� 1�$��� ��$� #�$���$� #�(�)�-�

 �
 ��$���$0 "1�$'�./�")�$

 �� �.�)) "1�$'�./�"2" +1��-.��$�

� G� ������
 ����
� ���� �������� �
�����

�� !"1+)�$'�* +1��-.��$�*

u(t), u(t) = u(t) + ∆u(t), t ∈ T,

$ )""�-��)�-+9�$* $' ����#�"�$�*

x(t), x(t) = x(t) + ∆x(t), t ∈ T,

1"!)($���' 1�$��� ��$� #�$���$� #�(�)�-� �� ��� �

∆J(u) = J(u) − J(u) =
∫

T

( |u(t) + ∆u(t)| − |u(t)| ) dt
�
 ���

!.� ��#$* -��$��$0
∆u(t)

 
t ∈ T

 !.� #"�"��*

signu(t) = signu(t), t ∈ T��. �
 �
�
@")#"./#+ !"1+)�$'�� -��$��$� ����#�"�$$

∆x(t)
 
t ∈ T

 +!"-.��-"&
���� +��-���$9 �� �
�  �" �#�# $ - 1 � � ��� 1�$*"!$' # ��-��)�-+ �� ��� � ��
�
 ��� $ �� ��� 1".+(��'

∆J(u) = −
∫

T

y
′

HF(t∗, t)b∆u(t) dt+
∫

T

( |u(t) + ∆u(t)| − |u(t)| ) dt,
�
 �� �

2!�
y
� 1�"$�-"./��0

m
&-�#�"� �

�-"!� "3"���(��$�
ψ

′

(t) = y
′

HF(t∗, t),
+3�� ! ��')�  (�" %+�#�$�

ψ(t)
 
t ∈ T

 �-.���)� ��	 ��$�' +��-���$� �� ��� �
�-�!�' "3"���(��$�

ϕ(t) = ψ
′

(t)b, t ∈ T.
�
 �G �

�"2! � %"�'+.� 1�$��� ��$� �
 ��� 1�$�$'��� "#"�(���./��0 -$! �

∆J(u) = −
∫

T

ϕ(t)∆u(t) dt+
∫

T

( |u(t) + ∆u(t)| − |u(t)| ) dt =

= −
∫

T

ϕ(t)∆u(t) dt+

��



+
∫

T : u(t)<0







−u(t)−∆u(t)+u(t),
�).$

∆u(t)≤−u(t)

u(t)+∆u(t)+u(t),
�).$

∆u(t)>−u(t)







dt+

+
∫

T : u(t)>0







u(t)+∆u(t)−u(t),
�).$

∆u(t)≥−u(t)

−u(t)−∆u(t)−u(t),
�).$

∆u(t)<−u(t)







dt+

+
∫

T : u(t)=0







−∆u(t),
�).$

∆u(t)<0
∆u(t),

�).$
∆u(t)>0







dt =

= −
∫

T : u(t)<0







(ϕ(t)+1)∆u(t),
�).$

∆u(t)≤−u(t)
(ϕ(t)−1)∆u(t)−2u(t),

�).$
∆u(t)>−u(t)







dt−

−
∫

T : u(t)>0







(ϕ(t)−1)∆u(t),
�).$

∆u(t)≥−u(t)
(ϕ(t)+1)∆u(t)+2u(t),

�).$
∆u(t)<−u(t)







dt−

−
∫

T : u(t)=0







(ϕ(t)+1)∆u(t),
�).$

∆u(t)<0
(ϕ(t)−1)∆u(t),

�).$
∆u(t)>0







dt.
�
 ���

��#�"�
y

-�3���' ��#  (�"3� - %"�'+.� 1�$��� ��$� �
 ��� #"�% % $�$&
���� 1�$

∆u(t)
- "1"���� '"'����

tj ∈ T��  
j = 1, m

 3�.$ ��-�� �+.9
�+(��' 1�$ ��"'  (�" - "1"���� '"'���� !".� �� -� 1".���/)� +)."-$�
�
 �
�� �

ϕ(tj) − signu(tj) = ψ
′

(tj)b− signu(tj) = y
′

HF(t∗, tj)b− signu(tj) =

= y
′

h(tj) − signu(tj) = 0, tj ∈ T��, j = 1, m.

7.�!"-���./�"  

y
′

(h(tj), tj ∈T��) − (signu(tj), tj ∈T��)
′

= y
′

P − (signu(tj), tj ∈T��)
′

= 0.

��#$' "3���"'  

y
′

= (signu(tj), tj ∈ T��)′ Q, Q = P−1.
�
 �� �

��#�"�
y

�
 �� � ���"-�' -�#�"�"' 1"����$�."-  ��	 ��$�
ψ(t)

 
t ∈ T

 
)$)��'� �� ���  �
 �� � ��� � � ��	 ��$� )"1������"0 )$)��'� �� ���  )""�-��)�-+&
9� �� -�#�"�+ 1"����$�."- �
 ���� � #"����#�"�$�0 - ��!�(� �� ���& �� �G � �

� GH �������� �����
�������
@+)�/

{u, T��} � "1"��"� +1��-.��$� � @"!)($���' 1" ��'+ -�#�"� 1"&
����$�."-

y
�
 ���  #"����#�"�$9

ψ(t)
 
t ∈ T

�� ���  �
 ��� $ %+�#�$9
ϕ(t)

 
t ∈ T

�
 �G � �

��



������
 � G� �#�$���$0 "1�$'�./�")�$� � 	
 ���� �	������ ���
�$
�� �%� 
����	 ���


u(t)
�
t ∈ T

� � '���#� "���& $ "���& ���� �� �#�� �
	 ��� $
������
 � ���� �����

T�� � #� � �	
 ���� ��%� 
����	 ���
 {u, T��} ����	�
$
���
 ������� ���
 �

ϕ(t) ≤ −1
�� �

u(t) = −1; ϕ(t) ≥ 1
�� �

u(t) = 1;

ϕ(t) = signu(t)
�� �

|u(t)| < 1, u(t) 6= 0;
|ϕ(t)| ≤ 1

�� �
u(t) = 0, t ∈ T.

�
 ���

� �	
#�� ����� �
 �������� ���� ��%� 
����	 ���
 ������� ���
 "� ��&

 �	
���
 ����� ��� � � �	
 ���� �	������ ���
��� �%� 
����	 ���


u(t)
�
t ∈ T

�

� ��
�
�������� G � ���
�������� � @+)�/ !.� "1"��"2" +1��-.��$�
{u, T��} )""��"	 ��$� �
 ��� -� 1".��9�)� � �"2!� ���" ����+!�" 1"#����/�
!.� .93"0 !"1+)�$'"0 -��$��$$ +1��-.��$�

∆u(t)
 
t ∈ T

 $� �
 ��� 1".+(�&
�' �

∆J(u) = J(u+ ∆u) − J(u) ≥ 0,
(�" $ !"#��� -��� !")���"(�+9 (�)�/ #�$���$� "1�$'�./�")�$ �

� ��	��������� �!"#�����./)�-" "� 1�"�$-�"2" � � @+)�/
u(t)

 
t ∈ T

�
"1�$'�./�"� +1��-.��$�  �

{u, T��} � ��-��"� !���"� "1"��"� +1��-.��$�
�� ��� ��! �($ �� ���& �� �G � � @��!1"."� $'  (�"  -"1��#$ +�-��� !��$9  )""��"&
	 ��$� �
 ��� �� -� 1".��9�)�  �� � � )+� �)�-+�� ��#�� �"(#�

t0 ∈ T
 - #"�"�"0

��$ )""��"	 ��$� ���+	 �9�)� �"(�-$!�"  
t0 ∈ T \ T��� �

� .� "1��!�.���")�$ 1��!1"."� $'  (�" !.� '"'����
t0

)""��"	 ��$�
�
 ��� ���+	 �9�)� ).�!+9�$' "3���"' �

ϕ(t0) > −1, u(t0) < 0.

�� ��1����-�")�$ %+�#�$$
ϕ(t)

 
t ∈ T

 $ #+)"(�"0 ��1����-�")�$
+1��-.��$�

u(t)
 
t ∈ T

 ).�!+�� )+� �)�-"-��$� ��#"2" ($).�
ξ1 > 0

 (�"
!.� -)�*

ξ
 
0 < ξ < ξ1

 -� 1".��9�)� )""��"	 ��$� �

ϕ(t) > −1, u(t) < 0, t ∈ T (t0) ⊂ T,
�
 �
 �

2!�
T (t0) = [t0 − ξ, t0 + ξ] ,

�).$
t0

�� �-.���)� 2���$(�"0 �"(#"0 "����#�
T

$ �� �-.���)� �"(#"0
�����-� +1��-.��$�

u(t)
 
t ∈ T

, - 1�"�$-�"' ).+(�� ��'��$' �!�)/ $ -
1").�!+9�$* ��))+� !��$�* "����"#

[t0 − ξ, t0 + ξ]
�� "!$� $� "����#"-

[t0 − ξ, t0]
$.$

[t0, t0 + ξ]
�

��



� )$.+ ��-��"� !���")�$ "1"��"2" +1��-.��$�
{u, T��} ��0!+�)� ��#$�

($).�
ξ2 > 0

 
ζ0 > 0

 
uξ

j

 
j = 1, m

 (�" !.� -)�*
ξ

 
0 < ξ < ξ2

 -�1".��9�)�
)""��"	 ��$� �

m
∑

j=1

uξ
j

tj+ξ
∫

tj−ξ

h(t) dt =
m
∑

j=1

tj+ξ
∫

tj−ξ

h(t)u(t) dt;

∣

∣

∣

∣

uξ
j

∣

∣

∣

∣

≤ 1 − ζ0; min
t∈[tj−ξ, tj+ξ]

∣

∣

∣

∣

uξ
j

∣

∣

∣

∣

≥ ζ0,
�
 �� �

tj ∈ T��, j = 1, m.
@+)�/ ($)."

ξ0 > 0
-�3���" ��#  (�" !.� -)�*

ξ
 
0 < ξ < ξ0

 -� 1".��9�&
)� $ )""��"	 ��$� �
 �
�  $ )""��"	 ��$� �
 ���  1�$(�' m

⋂

j=0
[tj − ξ, tj + ξ] = �

�
� .� #�� !"2"

ξ
 
0 < ξ < ξ0

 1")��"$' -��$��$9 +1��-.��$�
∆uξ(t)

 
t ∈ T

 ).�!+9�$' "3���"' � @"."� $'

∆uξ(t) ≡ v0 > 0, t ∈ [t0 − ξ, t0 + ξ] ;

∆uξ(t) ≡ 0, t ∈ T \
m
⋃

j=0

[tj − ξ, tj + ξ] .

���$��$9 +1��-.��$� �� "����#�*
[tj − ξ, tj + ξ]

 
tj ∈ T��  

j = 1, m
 

1")��"$' - -$!� 1")�"����* %+�#�$0

∆uξ(t) ≡ vj, t ∈ Tj = [tj − ξ, tj + ξ] , j = 1, m.

� )$.+ ��-��)�-� �G �G �  )1��-�!.$-"2" !.� #�� !"0 !"1+)�$'"0 -��$�&
�$$ +1��-.��$�  1".+(��' �G ���  "�#+! � �#�# $ - ���!�.� ��

vj = −e
′

jP̃
−1h(t0)v0 = kjv0, j = 1, m,

�
 ��	�
2!�

P̃ = P + o(ξ), P = (h(tj), tj ∈ T��) (detP 6= 0, det P̃ 6= 0).

� )$.+ .$��0�"0 ��-$)$'")�$ �
 ��	� $ ��-��"� !���")�$ �
 ��� "1"��"&
2" +1��-.��$� !.� !")���"(�" '�.�*

v0
$
ξ

 
0 < ξ < ξ0

 -�1".��9�)�
)""��"	 ��$� �

∣

∣

∣

∣

uξ
j + vj

∣

∣

∣

∣

≤ 1; sign
(

uξ
j + vj

)

= signuξ
j , j = 1, m.

�"2!� +1��-.��$� -$!�

u(t) ≡ uξ
j + vj, t ∈ Tj = [tj − ξ, tj + ξ] , j = 1, m;

u(t) = u(t) + ∆uξ(t), t ∈ T \
m
⋃

j=1

Tj = T \
m
⋃

j=1

[tj − ξ, tj + ξ] ,

�7



1" "1��!�.��$9 ��-��"� !���")�$ $ 1")��"��$9 -��$��$$
∆uξ(t)

 
t ∈ T

 
�-.���)� !"1+)�$'� ' �

�� ��-��"� !���")�$ �
 ��� "1"��"2" +1��-.��$� !.� !")���"(�" '�.�*
ξ

 
0 < ξ < ξ0

 1".+(��' �G �
� �
@"!)($���' 1�$��� ��$� #�$���$� #�(�)�-� �� +1��-.��$�*

u(t)
 
u(t)

 
t ∈ T

� � .� !")���"(�" '�.�*
v0

$
ξ

 
0 < ξ < ξ0

 $'��' �

∆J(u) = −
m
∑

j=1











∫

T +

j

(ϕ(t) − 1)
(

uξ
j + vj − u(t)

)

dt+

+
∫

T−

j

(ϕ(t) + 1)
(

uξ
j + vj − u(t)

)

dt











− v0

t0+ξ
∫

t0−ξ

(ϕ(t) + 1) dt =

= o(ξ) − v0

t0+ξ
∫

t0−ξ

(ϕ(t) + 1) dt < 0,

2!�

T+
j =

{

t ∈ Tj: u
ξ
j > 0

}

⊆ Tj, T−
j =

{

t ∈ Tj: u
ξ
j < 0

}

⊆ Tj, j = 1, m.

@".+(���"� 1�"�$-"��($� !"#���-��� ��"3*"!$'+9 (�)�/ #�$���$� "1&
�$'�./�")�$ �")��./��� ).+(�$ ���+	 ��$� )""��"	 ��$0 �
 ��� $)).�!+9�)�
���."2$(�" � �

��"��'� 
 �� !"#����� �

� G
 ��
�� �����
������ ���
������
�� )""��"	 ��$0 �
 ��� )���"-$�)� "(�-$!�"0 )��+#�+�� "1�$'�./�"2"

+1��-.��$� �
@+)�/

{u, T��} � "1"��"� +1��-.��$�  !.� #"�"�"2" -�1".��9�)� )"&
"��"	 ��$� �
 ��� � @" �"1�$'�./�"'+ � "1"��"'+ +1��-.��$9

{u, T��} "!�"&
���(�" )��"��)� �"1�$'�./��0� -�#�"� 1"����$�."-

y
�
 �� �  �"1�$'�./��� �

#"����#�"�$�
ψ(t)

 
t ∈ T

� ��	 ��$� )"1������"0 )$)��'� �� ���  �
 �� � $
�"1�$'�./��� � %+�#�$�

ϕ(t)
 
t ∈ T

�
 �G � �
7"2.�)�" )""��"	 ��$�' �
 ���  "1�$'�./�"� +1��-.��$�

u(t)
 
t ∈ T

 
1".�")�/9 "1��!�.���)� ) 1"'"� /9 �"1�$'�./�"0 � ��1����-�"0 %+�#�$$
ϕ(t)

 
t ∈ T

� �� ��* +(�)�#�*
T ∗

i ⊂ T
 
i ∈ K∗

�#�$�$(�)#$* �  �� #"�"��*
|ϕ(t)| > 1

 
t ∈ T ∗

i

 
i ∈ K∗

 +1��-.��$� 1�$�$'��� #�$�$(�)#$� ���(��$�
1$.$

−1
�
u(t) ≡ 1

$.$
u(t) ≡ −1

 
t ∈ T ∗

i

 
i ∈ K∗

� , '�� !+ #�$�$(�)#$'$
+(�)�#�'$ "1�$'�./�"2" +1��-.��$� ��*"!��)� +(�)�#$

T 0
i ⊂ T

 
i ∈ K0

 

� �



�� #"�"��* -� 1".����)� ����-��)�-"
|ϕ(t)| < 1

 
t ∈ T 0

i

 
i ∈ K0

��� �$*
+1��-.��$� �"� !�)�-���" ��-�" �+.9 �

u(t) ≡ 0
 
t ∈ T 0

i

 
i ∈ K0

� �
��#$' "3���"'  1��!�./�� ' !.� ��!�($ �� ���& �� �G � �-.���)� #.�)) #+&

)"(�"&1")�"����* %+�#�$0 �

@��� � � ���� ������� �������

� �� �!�� '��"!�
� �
 @�"��!+�� %"�'$�"-��$�  ��	 ��$� $ ���.$�� ���+./���"-

"1"��"0 ��! �($
� �� @�"��!+�� !"-"!#$

��! �(+ �� ���& �� �G � ��#�� 3+!�' ��	 ��/ '��"!"' 1��-"2" 1"��!#�  �� � �
'��"!"'  #"�"�� 0 �� $)1"./�+�� "1"�+ #�$���$� #�(�)�-� �

J G� ���� �����

���"! ��	 ��$� ��! �($ �� ���& �� �G � �#�# $ $�."�����0 - 1 �1 � � ��&� �� '�&

�"! ��	 ��$� ��! �($ �
 ���& �
 �G �� )")�"$� - -�1".���$$ !-+* 1�"��!+� � 1�"&
��!+�� % "�'$�"-��$�  ��	 ��$� $ ���.$�� ���+./���"- "1"��"0 ��!�($ $
1�"��!+�� !"-"!#$ �

��./9 -� 1".���$� 1��-"0 1�"��!+�� �-.���)� 1")��"��$� 2�+3"2" ��&
	 ��$� ��!�($ "1�$'�./�"2" +1��-.��$� �- )+� ���"' #.�))� !"1+)�$'�*
+1��-.��$0 � $ -��-.��$� �� ")�"-� ��"2" 2�+3"2" ��	 ��$� )��+#�+�� "1&
�$'�./�"2" +1��-.��$�  � ��#�� -�($).��$� 1�$3.$� ����* ���(��$0 �"&
(�# 1���#.9 (��$� ) "!�"2" +(�)�#� "1�$'�./�"2" +1��-.��$� �� !�+2"0 $
#"'1"���� -�#�"�� 1"����$�."- �
 ��� �

@�"��!+�� !"-"!#$ ��-��	 ��� ��3"�+ �.2"�$�'� 1")��"��$�' "1�$&
'�./�"2" +1��-.��$� �- 1��!�./�"' #.�))� !"1+)�$'�* +1��-.��$0 � 1+��'
+�"(���$� ���(��$0 �"(�# 1���#.9 (��$� $ #"'1"���� -�#�"�� 1"����$�."-
) .93"0 ��1���! ��!���"0 �"(�")�/9 �

��# 1"#����" - 1 �1 � 
 �
  
 ��  1��!�./�� ' !.� ��!�($ �� ���& �� �G � �-.���)�
#.�)) #+)"(�"&1")�"����* %+�#�$0 � >1�$'�./�"� +1��-.��$�

u(t)
 
t ∈ T

 
��!�($ �� ���& �� �G � )")�"$� $� +(�)�#"- !-+* �$1"- �1�$'�� �� �$)+�#� � ��� �
�� "!�$* +(�)�#�*

T ∗
i = ] ti, ti+1[ , i ∈ K∗ = K+

∗

⋃

K−
∗

�




�#�$�$(�)#$* � +1��-.��$� 1�$�$'��� #�$�$(�)#$� ���(��$� �

u(t) ≡ ki = 1, t ∈ T ∗
i , i ∈ K+

∗

��� ��#$* +(�)�#�*
ϕ(t) > 1

 
t ∈ T ∗

i

 
i ∈ K+

∗

� $.$

u(t) ≡ ki = −1, t ∈ T ∗
i , i ∈ K−

∗

��� ��#$* +(�)�#�*
ϕ(t) < −1

 
t ∈ T ∗

i

 
i ∈ K−

∗

� � ��$ #�$�$(�)#$� +(�)�#$
+1��-.��$� "�!�.��� !�+2 "� !�+2� +(�)�#�'$ -�"�"2" �$1�

T 0
i = ]ti, ti[ , i ∈ K0,

�� #"�"��* !.� ��1����-�"0 %+�#�$$
ϕ(t)

 
t ∈ T

 -�1".����)� ����-��&
)�-"

|ϕ(t)| < 1
 
t ∈ T 0

i

 
i ∈ K0

 $ 1"��"'+

u(t) ≡ 0, t ∈ T 0
i , i ∈ K0

�+(�)�#$ -�"�"2" �$1� ���"-�'
0

&"����#�'$�� � 1"'��+��� '�"��)�-� $�&
!�#)"- )��"2" "1��!�.�9�)� �$�� �

6

-
t0 =0 t1

t1 t2

t2 t3 = t
∗

k0 =1 k2 =1

k1 =−1

1

−1

t

u

������� � �� 	 >1�$'�./�"� +1��-.��$� - .$��0�"&��2.�!#"0 ��! �(�

@��-�� 1�"��!+�� )��"$� 3".�� 2�+3"� ��	 ��$� ��!�($ �� ���& �� �G �  ")�"&
-���"� �� ��))'"����$$ ��!�($ "1�$'�./�"2" +1��-.��$� - #.�))� $'&
1+./)��* +1��-.��$0  �� � � #+)"(�"&1")�"����* %+�#�$0 ) 1")�"���� '
1��$"!"' #-���"-��$�

h > 0
� �"2! � ��! �(� "1�$'�./�"2" +1��-.��$� 3+&

!�� �#-$-�.����� -�1+#."0 )�1���3�./�"0 ��! �(� #+)"(�"&.$��0�"2" 1�"&
2��''$�"-��$�  ��))'"�����"0 - )1��#+�)� 4>1�$'$���$� -� 1+#.�* )��&
�$(�)#$* '"!�.�0 8 ����  � ��	 ��$� ��! �($ �� ���& �� �G � 3+!�� $'��/ 4)�+1��/&
(��� 0 8 -$! ��$)+�"# � �
� � �).$ 2�+3"� ��	 ��$�  1".+(���"� - ���+./��&
�� -�1".���$� �1�$ -�3����"'

h > 0
� 1��-"0 1�"��!+��  !")���"(�" ��

1��#�$#�  �" �� ��"' 1�"��)) ��	 ��$� ��!�($ �� ���& �� �G � '"� �" ��-��	$�/ �
@")��"$�/ �"(�"� ��	 ��$� ��!�($ �� ���& �� �G � ��).$ - ��"' -"��$#���

��"3*"!$'")�/� '"� �" �� ")�"-� 1".+(���"2" 2�+3"2" ��	 ��$� � �).$ 1���&
'���

h > 0
-�3��� !")���"(�" '�.� '  �" 2�+3"� ��	 ��$� -1".�� "1��!�.�&

�� )��+#�+�+ "1�$'�./�"2" +1��-.��$�  � ��#�� 1�$3.$������ ���(��$�

��



�"(�# 1���#.9 (��$� '�� !+ +(�)�#�'$ !-+* �$1"- �#�$�$(�)#$'$ +(�)�#�&
'$ $

0
&"����#�'$� "1�$'�./�"2" +1��-.��$� $ #"'1"���� -�#�"�� 1"���&

�$�."- �$'���" ��#�� )$�+��$� !�'"�)��$�+��)� �� �$)+�#�* � �� � �
� �
>(�-$!�"  )��+#�+�� "1�$'�./�"2" +1��-.��$� ��! �($ �� ���& �� �G �

"(��/ 1"*"�� �� )��+#�+�+ "1�$'�./�"2" +1��-.��$� ��! �($ �
 ���& �
 �G �
� �"./#" -'�)�" #-��$")"3�* +(�)�#"- +1��-.��$� �!�)/ �- .$��0�"&
��2.�!#"0 ��! �(�� 1�$)+�)�-+9�

0
&"����#$ �

6

-
0 t

∗

1

−1

t

u

������� � �
 	 >1�$'�./�"� +1��-.��$� - #.�))� $'1+./)��* +1��-.��$0

>1��!�.$' 3".�� )��"2" 1"���$� )��+#�+�� "1�$'�./�"2" +1��-.��$�
��!�($ �� ���& �� �G � � @"!)($���' ).�!+9�$� ($).� $ 1")��"$' '�"��)�-� �

�� #".$(�)�-"
p

1�$��!.����$* "����#+
T 0

&"����#"-

T 0
i = ]ti, ti[ ⊂ T, i ∈ K0 = {1, . . . , p},

�� #"�"��* -�1".����)� ����-��)�-" �

|ϕ(t)| < 1, t ∈ T 0
i , i ∈ K0,

�� ���
$  ).�!"-���./�"  

u(t) ≡ 0, t ∈ T 0
i , i ∈ K0

��!�)/
|ϕ(ti)| = 1

,
|ϕ(ti)| = 1

 
i ∈ K0

 #�"'�  -"�'"� �"  �"(�#
t1

$
tp

� ,

� ($)." �1�$���#�

s0  "1��!�.��'"� )""��"	 ��$�'$ �

s0 = 0,
�).$

t1 > 0; s0 = 1,
�).$

t1 ≤ 0 < t1,
�� �
�

2!� (����
t1

"3"���(��� �"(#�  - #"�"�"0
|ϕ(t1)| = 1

 $ �"2!� 1�$
s0 = 0�"(#�

t1 ∈ intT
�1��-� 0 +(�)�"# +1��-.��$� #�$�$(�)#$0� , 1�$

s0 = 1�"(#�
t1 6∈ intT

$ ! �.�� 1"! "����#"'
T 0

1 = ]t1, t1[
3+!�' 1"�$'��/ "����"#

T 0
1 = ]t1, t1[ = ]0, t1[ ⊂ T

�1��-�0 +(�)�"# +1��-.��$� �
0

&"����"#� ,
�� ($)." �1�$���#�

s∗
 "1��!�.��'"� )""��"	 ��$�'$ �

s∗ = p,
�).$

tp < t∗; s∗ = p− 1,
�).$

tp < t∗ ≤ tp,
�� �� �

2!� (����
tp

"3"���(��� �"(#�  - #"�"�"0
|ϕ(tp)| = 1

 $ �"2!� 1�$
s∗ = p

�"(&
#�
tp ∈ intT

�1").�!�$0 +(�)�"# +1��-.��$� #�$�$(�)#$0 �, 1�$
s∗ = p− 1

��



�"(#�
tp 6∈ intT

$ ! �.�� 1"! "����#"'
T 0

p =
]

tp, tp
[ 3+!�' 1"�$'��/ "����"#

T 0
p =

]

tp, tp
[

=
]

tp, t
∗
[

⊂ T
�1").�!�$0 +(�)�"# +1��-.��$� �

0
&"����"# � ,

G � '�"��)�-" $�!�#)"- ��"'��"-�

K∗ = {s0, . . . , s∗}
1�$��!.���� $*

T
#�$�$(�)#$* +(�)�#"-

T ∗
i = ] ti, ti+1[ ⊂ T, i ∈ K∗,

+1��-.��$� �
|ϕ(t)| > 1, t ∈ T ∗

i , i ∈ K∗,
�� �G �

)"2.�)"-���"� ) '�"��)�-"' $�!�#)"-

K0 = {1, . . . , p}

0
&"����#"- �#�$�$(�)#$0 +(�)�"#  ).�!+9�$0 �� "(���!�� '

0
&"����#"'  

$'��� �"� �� �"'�� �  #"�"�"� ���"3��' �� !-� 1"! '�"��)�-�
K∗ = K+

∗
⋃

K−
∗

 
K+

∗
⋂

K−
∗ = �

�

K−
∗ = {i ∈ K∗: ϕ(t) < −1, t ∈ T ∗

i } ;
K+

∗ = K∗ \K
−
∗ = {i ∈ K∗: ϕ(t) > 1, t ∈ T ∗

i }

�� ���

�"(�-$!�"  
u(t) ≡ ki = −1

 
t ∈ T ∗

i

 
i ∈ K−

∗

,
u(t) ≡ ki = 1

 
t ∈ T ∗

i

 
i ∈ K+

∗

� �
7"-"#+1�")�/

S =
{

p, s0, s∗, K−
∗ , K

+
∗

} �� �� �
���"-�' )��+#�+�"0 "1�$'�./�"2" +1��-.��$� ��!�($ �� ���& �� �G � �

��"'� )��+#�+�� �� ��� "1�$'�./�"2" +1��-.��$� ��))'"��$' '�"��&
)�-" �2" "1��!�.�9�$* �.�'���"- �

{

ti, i ∈ P0 = {s0 + 1, . . . , p}; ti, i ∈ P 0 = {1, . . . , s∗}; y
}

,
�� ���

)")�"�� �� $� "1�$'�./��* -�#�"�� 1"����$�."-
y

�
 �� � $ 1�$��!.���� $*
T

.�-�*
ti

 
i ∈ P0

 $ 1��-�*
ti

 
i ∈ P 0  #"��"-

0
&"����#"-

T 0
i

 
i ∈ K0

�� ���
��!�)/

|ϕ(ti)| = 1
 
i ∈ P0

,
|ϕ(ti)| = 1

 
i ∈ P 0 � � ���� "1��!�.�9�$� �.�'����

�� ���  '"� �" .�2#" 1")��"$�/ "1�$'�./�"� +1��-.��$� �
@+)�/ 1").� -�1".���$� 1��-"0 1�"��!+�� "1��!�.��� )��+#�+�� "1&

�$'�./�"2" +1��-.��$� �� ��� $ 1�$3.$������ ���(��$� "1��!�.�9�$*
�.�'���"- �� ��� �1"!�"3��� "3 ��"' 2"-"�$�)� - 1 � � �
� � ��! �(� 1�"��!+&
�� !"-"!#$ � $)1"./�+� ��$ !�����  1")��"$�/ "1�$'�./�"� +1��-.��$�
�#+)"(�"&1")�"���+9 %+�#�$9  +!"-.��-"��9�+9 ) .93"0 ��1���! ��! ��&
�"0 �"(�")�/9 -)�' "2���$(��$�' ��!�($ �� ���& �� �G � $ +)."-$�' "1�$'�./&
�")�$ �
 ���� � @�"��!+�� !"-"!#$ )��"$� "1�$'�./�"� +1��-.��$� 1+��'
+�"(���$� "1��!�.�9� $* �.�'���"- �� ��� ) 1"'"� /9 ��	 ��$� )1��$�./&
��* #"��(��* +��-���$0 !"-"!#$ �

��



J GH 
�������
 � �������
��� ; ��� ���� � 
�
���

�������
��� ������� �
�
��

@+)�/
{u, T��} � "1"��"� +1��-.��$�  !.� #"�"�"2" �� -�1".��9�)�

+)."-$� "1�$'�./�")�$ �
 ��� � @�$)�+1��' # %"�'$�"-��$9 "1"��"0 ��! �&
($ �

��! �(+ �� ���& �� �G � �#�# $ ��! �(+ �
 ���& �
 �G � - 1 � � �
� ��))'"��$' - #.�))�
$'1+./)��* +1��-.��$0  �� � � #+)"(�"&1")�"����* %+�#�$0 ) 1")�"���� '
1��$"!"' #-���"-��$�

h > 0
� � .� ��"2" -�3���' ��."� ($)."

N > 1
$

���"3��' "����"#
T = [0, t∗]

��
N

��-��* (�)��0 ��� �
� $ �$)+�"# � ��� �
��! �(+ �� ���& �� �G � ��))'"��$' - #.�))� %+�#�$0 �� ��� � �"2! � !.� �.�'���"-
��!�($ �� ���& �� �G � 1".+($' �

�� !.� #�$���$� #�(�)�-� �� ��� �

J(u) =
t∗
∫

0

|u(t)| dt =
N−1
∑

i=0

τi+1
∫

τi

|u(t)| dt =
N−1
∑

i=0

|ui|

(i+1)h
∫

ih

dt = h
N−1
∑

i=0

|ui|;


� !.� 2�"'���$(�)#$* "2���$(��$0 �� �G � �

|ui| ≤ 1, i = 0, N − 1.
�  ��#"���  $)1"./�+� % "�'+.+ �"	$ �
 ��� �!.� )$)��'� �� �
��  

�� !.� ���'$��./�"2" "2���$(��$� �� ��� 1".+($' �

Hx(t∗) = HF(t∗, 0)x0 +
t∗
∫

0

HF(t∗, t)bu(t) dt =

= HF(t∗, 0)x0 +
N−1
∑

i=0

τi+1
∫

τi

h(t)u(t) dt =

= HF(t∗, 0)x0 +
N−1
∑

i=0

ui

(i+1)h
∫

ih

h(t) dt = g.

�-�!�' "3"���(��$� !.� -�#�"�"- $ '���$�� �

ũ =
(

ui, i = 0, N − 1
)

; b̃ =
(

b̃i, i = 1, m
)

= g −HF(t∗, 0)x0;

Ã =
(

ãi, i = 0, N − 1
)

=







(i+1)h
∫

ih

h(t) dt, i = 0, N − 1





 .

�"2!� - #.�))� $'1+./)��* +1��-.��$0 �� ��� ��! �(� �� ���& �� �G � 3+!�� �#&
-$-�.����� ).�!+9� �0 -�1+#."0 )�1���3�./�"0 #+)"(�"&.$��0�"0 ��!�(�
�1")�"����0 '�"� $��./

h
�� '$�$'+' ��.�-"0 %+�#�$$ �� -.$���� �

N−1
∑

i=0

|ui| → min, Ãũ = b̃, |ui| ≤ 1, i = 0, N − 1.
�� �
 �

��



��! �(+ �� �
� 3+!�' ����-��/ "1"��"0 ��!�(�0 �!.� ��! �($ �� ���& �� �G �� �
�� '"� �" ��	 ��/ .93� '$ $�-�)��� '$ '��"! �'$  ��1�$'��  1��'� '$
"1"��� '$ '��"! �'$ �1��-"2" $.$ -�"�"2" 1"��!#��  ��))'"������ '$ -
)1��#+�)� 4>1�$'$���$� -� 1+#.�* )���$(�)#$* '"!�.�0 8 ����  $.$ !-"0&
)�-���� '$ "1"��� '$ '��"! �'$ �#+)"(�"&.$��0�"2" $.$ .$��0�"2" 1�"&
2��''$�"-��$� ��

@�"3.�'� 1")��"��$� ��(�./�"2" 1.���
ũ =

(

ui, i = 0, N − 1
) $ ��&

(�./�"0 "1"��
J�� = {i1, . . . , im} ⊂ {0, 1, . . . , N − 1}

��! �($ �� �
� ��	 ���)�
��# ��  #�# ��" )!�.��" - 1 � � �
 !.� ��! �($ �� ��	� �

@+)�/
{ũ0, J0��}

 
ũ0 =

(

u0
i , i = 0, N − 1

)  
J0�� = {i01, . . . , i

0
m}

� "1�$'�./&
��0 "1"���0 1.�� ��!�($ �� �
� � @" ��"0 $�% "�'��$$ 1")��"$' �"-"� !"&
1+)�$'"� +1��-.��$�

u(t)
 
t ∈ T

 $ �"-+9 "1"�+
T �� = {t1, . . . , tm}

��! �($
�� ���& �� �G � ���# � �  #�# ��" )!�.��" - 1 � � �
 !.� ��! �($ �
 ���& �
 �G �� �

@" �"-"'+ "1"��"'+ +1��-.��$9
{u, T ��} "1��!�.$' )��+#�+�+ "1�$&

'�./�"2" +1��-.��$� �� ��� �1�$ !")���"(�" '�."'
h

��" '"� �" )!�.��/� $
-� ($).$' 1�$3.$� ����� ���(��$� �2" "1��!�.�9�$* �.�'���"- �� ��� � � .�
��"2" )��(�.� 1" "1"��"'+ +1��-.��$9

{u, T ��} 1"!)($���' -�#�"� 1"���&
�$�."-

y
�
 �� � � ����'  $���2�$�+� )"1������+9 )$)��'+ �� ���  �
 �� � )1��-�&

��.�-" �$ )��"� ��#$' "3���"' #"����#�"�$9
ψ(t)

 
t ∈ T

�  1" 1"-�!��$9
%+�#�$$

ϕ(t) = ψ
′

(t)b
 
t ∈ T

�1 � � ��� ��0!�' ")��./��� "1��!�.�9� $�
�.�'���� $� �� ��� $ "1��!�.$' )��+#�+�+ �� ��� �

7 ��"0 $�% "�'��$�0 1���0!�' # 1�"��!+�� !"-"!#$ �

J G
 
�������
 �������
�� !"-"!#+ �- #�(�)�-� ��(�./�"0 $�% "�'��$$� 1���! ���)� )��+#�+��

S
�� ��� $ "1��!�.�9�$� �.�'���� �� ���  -#.9 (�9�$� - )�3� -�#�"� 1"���&

�$�."-
y

 � ��#� � 1�$��!.����$�
T

#"���
ti

 
i ∈ P0 = {s0 + 1, . . . , p}

 $
ti

 
i ∈ P 0 = {1, . . . , s∗}

 
0

&"����#"-
T 0

i

 
i ∈ K0 = {1, . . . , p}

� @" ��"0 $�&
% "�'��$$ ����+!�" 1")��"$�/ �1�$ ��"3*"!$'")�$ � #-��$+1��-.��$�

ω(t)
 

t ∈ T
�

ω(t) ≡ 0, t ∈ T 0
i = ] ti, ti [ , i ∈ K0 = {1, . . . , p};

ω(t) ≡ ki, t ∈ T ∗
i = ] ti, ti+1[ , i ∈ K∗ = {s0, . . . , s∗}

(ki = −1, i ∈ K−
∗ ; ki = 1, i ∈ K+

∗ );

�� �� �

���(��$� #-��$+1��-.��$� - �"(#�* ����� -�
ti

 
i ∈ P0

 $
ti

 
i ∈ P 0  "1��!�&

.$' �)"2.�)�" !"2"-"����")�$ 1�$ 1")���"-#� ��! �($ � ).�!+9�$' "3���"' �

ω(t) = [ω(t− 0) + ω(t+ 0)] /2.
�� #-��$+1��-.��$$  "(�-$!�"  -�1".��9�)� +)."-$� "1�$'�./�")�$

�
 ��� $ 2�"'���$(�)#$� "2���$(��$� �� �G �  �" �� -� 1".����)�  -"�'"� �"  

��



���'$��./�"� "2���$(��$� �� ��� � ��! �(� !"-"!#$ � ��# )#"���#�$�"-��/
#-��$+1��-.��$�  (�"3� �� �"-"' #-��$+1��-.��$$ -�1".��.")/ ��#�� $
���'$��./�"� "2���$(��$� �

�"���#�$�"-#+ #-��$+1��-.��$� �#+)"(�"&1")�"���"0 %+�#�$$ � �.�&
'���� 3�)#"��(�"'���"2" %+�#�$"��./�"2" 1�")����)�-�� 1�"$�-�!�' 1+&
��' #"���#�$$ #"��(�"2" ��3"�� ($)�. � "1��!�.�9�$* �.�'���"- �� ��� �
�".$(�)�-" ��$* �.�'���"- ��-�"

|P0| + |P 0| +m
�

@".+($' +��-���$� !.� -�($).��$� "1��!�.�9�$* �.�'���"- 1" $*
��(�./�� ' 1�$3.$���$�' �

��
m

+��-���$0 $'��' $� +)."-$� -� 1".���$� ���'$��./�"2" "2���$&
(��$�

H�(t∗) = HF(t∗, 0)x0 +
t∗
∫

0

HF(t∗, t)bω(t) dt =

= HF(t∗, 0)x0 +
s∗
∑

i=s0

ki

ti+1
∫

ti

h(t) dt = g,

2!�
�(t)

 
t ∈ T

� ����#�"�$� )$)��'� �� �
�  )""�-��)�-+9� �� #-��$+1��-&
.��$9 �� ��� ,

t0 = 0,
�).$

s0 = 0; tp+1 = t∗,
�).$

s∗ = p;


� �� �
|P0| + |P 0|

+��-���$0 � $� +)."-$0 -� 1".���$� )""��"	 ��$0
�
 ��� #�$���$� "1�$'�./�")�$ - �"(#�* �����-�

ti
 
i ∈ P0

 $
ti

 
i ∈ P 0 �

ϕ(ti) = y
′

h(ti) = ki−1, i ∈ P0;

ϕ(ti) = y
′

h(ti) = ki, i ∈ P 0.

�-�!�' "3"���(��$�

qi (ti; y) = y
′

h(ti) − ki−1, i ∈ P0;

ri (ti; y) = y
′

h(ti) − ki, i ∈ P 0;
�� ��	�

f
(

ti, i ∈ P0; ti, i ∈ P 0
)

=
s∗
∑

i=s0

ki

ti+1
∫

ti

h(t) dt+HF(t∗, 0)x0 − g.

�"2!� $'��'
|P0| + |P 0| +m

+��-���$0 !"-"!#$ �

qi (ti; y) = 0, i ∈ P0;

ri (ti; y) = 0, i ∈ P 0;
�� ����

f
(

ti, i ∈ P0; ti, i ∈ P 0
)

= 0.

��



>1��!�.��$� �.�'���� �� ���  )")��-.�9�$� ��(�./�+9 $�%"�'��$9
!.� 1�"��!+�� !"-"!#$  - "3� �' ).+(�� �� �-.�9�)� ��	 ��$�' )$)��'�
�� ���� �

@"!)($���' !.� )$)��'� �� ���� '���$�+ �#"3$ �

G = G( t i, i ∈ P0; ti, i ∈ P 0; y ) =









G11 0 G13

0 G22 G23

G31 G32 0









;

G11 =





∂qj/∂ti, i ∈ P0

j ∈ P0



 ; G13 =





∂qj/∂yi, i = 1, m
j ∈ P0



 ;

G22 =





∂rj/∂ti, i ∈ P 0

j ∈ P 0



 ; G23 =





∂rj/∂yi, i = 1, m

j ∈ P 0



 ;

G31 = (∂f/∂ti, i ∈ P0) ; G32 =
(

∂f/∂ti, i ∈ P 0
)

.
>)��./��� 3."#$ '���$�� �#"3$ �+.�-�� �

G12 =





∂qj/∂ti, i ∈ P 0

j ∈ P0



 = 0; G21 =





∂rj/∂ti, i ∈ P0

j ∈ P 0



 = 0;

G33 = (∂f/∂yi, i = 1, m) = 0,
�� # � %+�#�$$

qj
(

tj; y
)  
j ∈ P0

,
rj (tj; y)

 
j ∈ P 0 ,

f
(

ti, i ∈ P0; ti, i ∈ P 0
) ��

��-$)�� �-�" "�
ti

 
i ∈ P 0 ,

ti
 
i ∈ P0

,
y

)""�-��)�-���" � @"!)($���'

∂qi
∂ti

=
∂

∂ti

(

y
′

h(ti) − ki−1

)

=
∂

∂ti

(

y
′

HF(t∗, ti)b
)

= y
′

H
∂F(t∗, ti)

∂ti
b =

= −y
′

HF(t∗, ti)Ab = −y
′

Hm(ti), i ∈ P0;

∂ri
∂ti

=
∂

∂ti

(

y
′

h(ti) − ki

)

=
∂

∂ti

(

y
′

HF(t∗, ti)b
)

= y
′

H
∂F(t∗, ti)

∂ti
b =

= −y
′

HF(t∗, ti)Ab = −y
′

Hm(ti), i ∈ P 0;

∂qj
∂ti

= 0
1�$

j 6= i, i, j ∈ P0;
∂rj
∂ti

= 0
1�$

j 6= i, i, j ∈ P 0;

∂qj
∂yi

=
∂

∂yi

(

y
′

h(tj) − kj−1

)

=
∂

∂yi

(

h
′

(tj)y
)

= hi(tj), i = 1, m, j ∈ P0;

∂rj
∂yi

=
∂

∂yi

(

y
′

h(tj) − kj

)

=
∂

∂yi

(

h
′

(tj)y
)

= hi(tj), i = 1, m, j ∈ P 0

(��� �(∂qj
∂yi

, i = 1, m

)

= h
′

(tj), j ∈ P0;

(

∂rj
∂yi

, i = 1, m

)

= h
′

(tj), j ∈ P 0
)

;

∂f

∂ti
=

∂

∂ti









s∗
∑

j=s0

kj

tj+1
∫

tj

h(t) dt









=
s∗
∑

j=s0

kj
∂

∂ti









tj+1
∫

tj

h(t) dt









= ki−1h(ti), i ∈ P0;

��



∂f

∂ti
=

∂

∂ti









s∗
∑

j=s0

kj

tj+1
∫

tj

h(t) dt









=
s∗
∑

j=s0

kj
∂

∂ti









tj+1
∫

tj

h(t) dt









= −kih(ti), i ∈ P 0,

2!�
m(t) = F(t∗, t)Ab

� ��#$' "3���"'  

G11 = diag
(

−y
′

Hm(ti), i ∈ P0

)

; G13 =





h
′

(ti)

i ∈ P0



 ;

G22 = diag
(

−y
′

Hm(ti), i ∈ P 0
)

; G23 =





h
′

(ti)

i ∈ P 0



 ;

G31 = [ ki−1h(ti), i ∈ P0 ] ; G32 =
[

−kih(ti), i ∈ P 0
]

$ '���$�� �#"3$
G

��-��

G=



























diag(−y
′

Hm(ti), i∈P0)
���

0
��� h

′

(ti),

i∈P0& & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & &

0

���
diag(−y

′

Hm(ti), i∈P
0)

��� h
′

(ti),
i∈P 0& & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & & &

ki−1h(ti), i∈P0

���
−kih(ti), i∈P

0

���
0



























.

@+)�/ -�1".��9�)� +)."-$� �

rank
(

h(t), t ∈ T 0
)

= m,
�� ��
�

2!�
T 0 =

{

ti, i ∈ P0; ti, i ∈ P 0
} � )"-"#+1�")�/ �"(�# �����-� %+�#�$$

ω(t)
 
t ∈ T

 $

∂

∂t
(ϕ(t))

∣

∣

∣

∣

t=ti
=

∂

∂t

(

y
′

h(t)
)

∣

∣

∣

∣

t=ti
6= 0, i ∈ P0;

∂

∂t
(ϕ(t))

∣

∣

∣

∣

t=ti
=

∂

∂t

(

y
′

h(t)
)

∣

∣

∣

∣

t=ti
6= 0, i ∈ P 0.

�� ����
�"2!�

detG 6= 0
 $ )$)��'� �� ���� $'��� �!$�)�-���"� ��	 ��$� �

��	 ��/ )$)��'+ �� ���� �#�# $ )$)��'+ �� ����� '"� �" '��"!"' �/9�"�� �
�)1"./�+� ��(�./�"� 1�$3.$���$� # "1��!�.�9� $' �.�'����' �� ��� �

z0 =
(

t0i , i ∈ P0; t0i , i ∈ P 0; y0
)

,

#"�"�"� 1")��-.��� "1"���� ��!�(�  ).�!+9� $� 1�$3.$���$� ��0!�' 1"
% "�'+.�

zk = zk−1 −G−1(zk−1)













qi
(

tk−1
i ; yk−1

)

, i ∈ P0

ri
(

tk−1
i ; yk−1

)

, i ∈ P 0

f
(

tk−1
i , i∈P0; t

k−1
i , i∈P 0

)













, k = 1, 2, . . . .
�� ��G �

�7



��($).��$� 1" %"�'+.� �� ��G � �- ).+(�� )*"!$'")�$ '��"!� �/9�"���
1�"!".���' !" ��* 1"�  1"#� �� 3+!+� -� 1".���� ����-��)�-�

∣

∣

∣qi
(

tk0

i ; yk0

)∣

∣

∣ ≤ ε, i ∈ P0;
∣

∣

∣

∣

ri
(

tk0

i ; yk0

)∣

∣

∣

∣

≤ ε, i ∈ P 0;
∥

∥

∥

∥

f
(

tk0

i , i ∈ P0; t
k0

i , i ∈ P 0
)∥

∥

∥

∥

≤ ε.

�� ����

�"2! � !.� #-��$+1��-.��$�
ω(k0)(t)

 
t ∈ T

 #"�"�"� 1".�")�/9 "1��!�&
.���)� ) 1"'"� /9 �.�'���"-

zk0 =
(

tk0

i , i ∈ P0; t
k0

i , i ∈ P 0; yk0

)  ) ��! ���"0
�"(�")�/9 -� 1".����)� ���'$��./�"� "2���$(��$�

H� (k0)(t∗) = g
 � ��#��

) ��! ���"0 �"(�")�/9 �1" ���(��$9 %+�#�$$
ϕ(t)

 
t ∈ T

� ��0!��� �"(#$
1���#.9 (��$�

ti = tk0

i

 
i ∈ P0

,
ti = tk0

i

 
i ∈ P 0 ��!�)/

�(k0)(t)
 
t ∈ T

� ���&
�#�"�$� )$)��'� �� �
�  )""�-��)�-+9� �� #-��$+1��-.��$9

ω(k0)(t)
 
t ∈ T

� �
@"��"'+ ��" #-��$+1��-.��$� '"� �" 1�$���/ - #�(�)�-� "1�$'�./�"2" +1&
��-.��$� ��! �($ �

� 1�"�$-�"' ).+(��  �).$ (���� �? � $�����$0 '��"! � �/9�"�� �� +)��&
�"-$.)� #-�!���$(�� 0 ��#"� +'��/	 ��$� -�.$($� �� ���� $.$ 1�"$�"	."
$�'����$� ����+	 ��$�� )��+#�+�� �� ���  ��0!���"0 - ���+./���� ��	 ��$�
"1"��"0 ��!�($  1�$)�+1��' # %"�'$�"-��$9 $ ��	 ��$9 �"-"0 "1"��"0
��!�($ �

�"-+9 "1"��+9 ��!�(+ '"� �" %"�'$�"-��/ ����� '$ )1")"3�'$ �
�"� �"  ��1�$'��  +'��/	 $�/ 1���'���

h
 #�# $ !.� .$��0�"&#-�!��&

�$(�"0 ��! �($ ���1�$'��  
h = h/2

� � ��# 1")�+1�9� -)�2! �  #"2!� ��� +-�&
����")�$ - �"'  (�" )��+#�+�� "1�$'�./�"2" +1��-.��$� -��-.��� � �"2!�
)+� �)�-���" +-�.$($-���)� ���'�� "1"��"0 ��! �($  �" !�0)�-$� 1" % "�&
'$�"-��$9 ��! �($ 3+!+� �!$�""3����� '$ �#�# $ !.� 1��!�!+� �0 "1"��"0
��!�($� �

�"� �" 1")�+1$�/ $ 1"&!�+2"'+ ��).$ )��+#�+�� "1�$'�./�"2" +1��-&
.��$� -��-.���� � ���3$�/ �� '��/	 $� ��� !-� $.$  .+(	 �  �� ��$ � �"./#"
�� "����#$

[τi, τi+1]
 
i ∈ {0, 1, . . . , N−1}

 !.� #"�"��* )""�-��)�-+9�$� #"'&
1"����� "1�$'�./�"2" 1.���

ũ0 =
(

u0
i , i = 0, N − 1

) 1��!�!+� �0 "1"��"0
��!�($ +!"-.��-"��9� ����-��)�-�'

−1 < u0
i < 0

$.$
0 < u0

i < 1
 �� � �

"����#$  #"�"�� ' 1�$��!.���� �"(#$ 1���#.9 (��$�
ti

 
i ∈ P0

,
ti

 
i ∈ P 0  

#-��$+1��-.��$�
ω(t)

 
t ∈ T

� � ��"' ).+(�� �� )(�� �#"�"'$$ ���'��"-
"1"��"0 ��! �($ '"� �" - 3"./	 �0 )��1��$ +�"(�$�/ ��)1"."���$� �"(�#
1���#.9 (��$� �

��(�./��0 "1"���0 1.�� �"-"0 "1"��"0 ��!�($ 1")��"$'  $)1"./�+�
�"-"� "1"��"� +1��-.��$�

{u, T ��}  1".+(���"� - ���+./���� ��	 ��$� 1��&
!�!+� �0 "1"��"0 ��! �($ �

��



@��� �� *��������� ������

��-�)��"  (�" - ).+(�� "��")$��./�"0 +1��-.��'")�$ !$��'$(�)#"0
)$)��'� �� �
� ��� � � - ).+(�� )+� �)�-"-��$� *"�� 3� "!�"2" !"1+)�$'"&
2" +1��-.��$� � - ��!�(� �� ���& �� �G � )+� �)�-+�� $ "1�$'�./�"� +1��-.��$�
u0(t)

 
t ∈ T

�
��! �(+ �� ���& �� �G � ���"-�' ��-� �"� !���"0  �).$ �
�� )+� �)�-+�� ��#�� "1"��

T 0��
 (�"

{u0, T 0��}
� ��-��"� !���"� "1"��"�

+1��-.��$� �$ �"2! � !.�
{u0, T 0��}

-� 1".��9�)� )""��"	 ��$� �
 ���� ,

� '�"��)�-"

T 0 =
{

t ∈ T : ∆
(

t |T 0��
)

= 0
}

,
��	 ���

2!�
∆
(

t |T 0��
)

= y
′
(

T 0��
)

h
(

t |T 0��
)

− signu0(t) = ϕ
(

t |T 0��
)

− signu0(t)
 )"&

)�"$� $� #"��(�"2" ($).� $�".$�"-����* �"(�# �

T 0 = {tj ∈ T, j = 1, s: tj < tj+1, j = 1, s− 1}
�"(�-$!�"  '�"� �)�-"

T 0 ��	 ��� )"-1�! ��� ) '�"��)�-"' �"(�# ����� -�
ti

 
i ∈ P0

,
ti

 
i ∈ P 0 ,

s = |P0| + |P 0|
 "1�$'�./�"2" +1��-.��$�

u0(t)
 
t ∈ T

 
!.� #"�"��*  )"2.�)�" �� ��	� -�1".��9�)� ��-��)�-� �

ϕ
(

ti |T
0��
)

− signu0(ti) = ϕ
(

ti |T
0��
)

− ki−1 = 0, i ∈ P0;

ϕ
(

ti |T
0��
)

− signu0(ti) = ϕ
(

ti |T
0��
)

− ki = 0, i ∈ P 0 );
��

∆̇
(

tj |T
0��
)

6= 0
 
j = 1, s

 �� � � -� 1".��9�)� +)."-$� �� ���� �"(�-$!�"  
(�"

T 0�� ⊆ T 0 � �
@��!1"."� $'  (�" $)*"!��� ��!�(� ��-��"� !����� �
��))'"��$' )$)��'+ +��-���$0 !"-"!#$ �� ���� � �� '��"!"- -�($).��$0

$�-�)��"  (�" )+� �)�-+�� ��#��
δ

&"#��)��")�/ �"(#$
z

�
z
� ��	 ��$� )$)��&

'� �� �����  (�" $)*"!� $� .93"0 �"(#$
z0 ��"0 "#��)��")�$  '��"! �/9�"��

)��"$� )*"!��+9 )� 1").�!"-���./�")�/
zk  

k = 1, 2, . . .
 1�$3.$� ��$0 ��&

	 ��$� +��-���$0 �� ����  1�$(�'
∥

∥

∥z − zk
∥

∥

∥ ≤ (2ν)2k−1η/2k−1,
��	 �
�

2!�
δ > 0

 
0 < ν < 1/2

 
η > 0

� % $#)$�"-����� ($).�  ��-$)��$� �"./#"
"� �.�'���"- ��!�($ �� ���& �� �G � �

����!+ ) -�#�"��'$
z

,
zk  

k = 1, 2, . . .
 ��))'"��$' -�#�"��

v =
(

ti, i ∈ P0; ti, i ∈ P 0
)

; vk, k = 1, 2, . . . ,
)")�"�� $� �"./#" $� �"(�# 1���#.9 (��$� � � )$.+ -�1".���$� ����-��)�-
��	 �
�  !.� -�#�"�"-

v
,
vk  

k = 1, 2, . . .
 )1��-�!.$-� ��#$� �� ����-��)�-� �

∥

∥

∥v − vk
∥

∥

∥ ≤ (2ν)2k−1η/2k−1.
��	 ���

�




��"3*"!$'�� 1�$3.$���$� !.� 1�"��!+�� !"-"!#$ )��"$� "1"����
��!�(� �� �
� �� #"��(�"� ($)." $�����$0 � @�$ ��"' !")���"(�" #"��(�"�
($)." ��� "3��� ��/)� # 1��'"0 �� �
� $ )"1������"0 �� ���  �
 ��� )$)��'�'
�#
π

&)$)��'�� !.� % "�'$�"-��$� �.�'���"- "1"��"0 ��! �($ �
@+)�/

z̃ = (ṽ, ỹ)
� -�#�"� "1��!�.�9� $* �.�'���"- �� ��� - ��! �(� �� ���&

�� �G � 1").� ��	 ��$� "1"��"0 ��! �($ �� �
� � @�$ !")���"(�" '�."'
h > 0- ).+(�� ��-� �"� !���")�$ ��!�($ �� ���& �� �G � )1��-�!.$-" +�-��� !��$� �
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